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Question Number : 1 Question Id : 9983678047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fa=faf@a e 7 39 fFeT =1 799 FT 3t o7 fEa (?) = sfawnfoa e
garafa &= (Botany) : 9iem (Plants) :: T¥ATE=T (Eremology) : ?

Options:

1. = #e
2. % WM
3. »
4. v IWEEA=

Question Number : 1 Question Id : 9983678047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question. find out the alternative which will replace the question mark.

Botany : Plants :: Eremology : ?
Options:
1. % Insects



? % snakes
3. % soils

4. « Deserts

Question Number : 2 Question Id : 9983678048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the odd word from the given options.
Options:

1. » Bangkok
7« Armenia
3. % Oftawa

/. % Buenos Aires

Question Number : 2 Question Id : 9983678048 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁmﬁwﬁﬁﬂﬁmamgﬁ

Options:
1. = ek
2 v AT



Question Number : 3 Question Id : 9983678049 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Two statements followed by two conclusions numbered I and II are given. Consider the statements to be true, even if
they seem to be at variance with commonly known facts, and decide which of the conclusions logically follow(s) from
the statements.

Statements:
All shampoos are gels.
No lotion is a shampoo.

Conclusions:
I.  No lotion is a gel.
II. Some lotions are gel.

Options:
1. % Only conclusion I follows.

2 % Only conclusion II follows.

3 % Both conclusions I and II follow.

4. « Either conclusion I or II follows.

Question Number : 3 Question Id : 9983678049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gr Fua HT g =y | 3R 1| e arv §) ofE Fus gEeaa: A9 93 ¥ feaar @ g ar o 392
T A, AR A FF Fia @ Ty, aifde 79 & FUa F HGEO w2 2|

e
Tt S =T B

FIg FreT AFT AGT &
o

l. FS S T 7 L
I F& S AT g

Options:



1 o FEE TAH | IEEIOT F P

5 ael [y || 80T HLam gl

5y am s | R e |l e X g

4 o T Y| A FAHT I HFEOT FIA g

Question Number : 4 Question Id : 9983678050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In a code language, BINOLA is written as 291415121, What will PACIFY be written as in the same code language?

Options:
1. &= 16149625

7 % 15139625
3. % 16139552

A » 16139625

Question Number : 4 Question Id : 9983678050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T &I 99T H, BINOLA Fr 291415121 & w7 & for@r =mar &1 3407 &1 a9r &F PACIFY =1 &% fBrar
FATTAT?

Options:

1. » 16149625



2 % 15139625

3. » 16139552

4. v 16139625

Question Number : 5 Question Id : 9983678051 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Four of the following are alike in a certain way and so form a group. Which one does not belong to that group?
Options:
1. = EFT

? w% TUP

3. % DOB

A » PEI

Question Number : 5 Question Id : 9983678051 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl F @ 9/ aow # R a1 5 TR @ g9 @ g HR 3 T THg #7961 g
fom 7 & Fiear 37 g ¥ wefoq A8 87

Options:

1. =« EFT

2. =« TUP



3. » DOB

4. v PE

Question Number : 6 Question Id : 9983678052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the one which is different from other three alternatives:

Options:
1. % (46,28)

9w (72,54)

3 o (58,78)

4 % (36,90)

Question Number : 6 Question Id : 9983678052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TafaeT v # 30 T 7 997 1 3 37 37 &FFear ¥ &7 &

Options:
1 = (46, 28)
2« (72, 54)

3 » (58, 78)



A x (36, 90)

Question Number : 7 Question Id : 9983678053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question. select the one which is different from the other three alternatives.

Woman = 66

Ravan = 56
Pencil = 58
Geeta = 38
Options:

1. ®# Ravan

? % Woman

3. % Geeta

4. « Pencil

Question Number : 7 Question Id : 9983678053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TafaeT v # 30 T 7 997 1 3 37 37 &FFear ¥ &7 &

Woman = 66
Ravan = 56

Pencil = 58

Geeta = 38

Options:

1. = Ravan



7 =% Woman

3. u Geeta

4. « Pencil

Question Number : 8 Question Id : 9983678054 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, two positions of a single dice are given.
Find the face which is opposite to the face having digit 1?

1 3
2 3 4 3
- I

Options:

1. = 3

2. 4

3 % 35

A = 2

Question Number : 8 Question Id : 9983678054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Trafafla vo &, v T 9T 27 Rt Bl s o T
TEIT 1 T ol & [F98d welsh 97 $id 47 &7 gef?

1
2 ] 4
| I
Options:
1. = 3
2. v 4

Question Number : 9 Question Id : 9983678055 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

In the following question, three positions of the same dice are given. What will be the digit on the face opposite to the
face having digit 4?7

Options:

1. = 5



5.;0
b4
()

4 v 1

Question Number : 9 Question Id : 9983678055 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

fafea 797 &, T T & d e Tufoar a2 ¢ gw=w 4 99 e # Toula vee W
FiT O H@EaT e

- 1 m
Options:

1. = 5

2. % 3

Question Number : 10 Question Id : 9983678056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Six faces of a block have been painted with green, yellow, pink, black, red and white. Two positions of the block are
given below.
If the pink colour be at the top, then which colour will be at the bottom?

Yellow Pink
g k-
& 3 K-
Ay & Green =
" I
Options:
1. «+ Red

? % Yellow

3. % Green

4. = Black

Question Number : 10 Question Id : 9983678056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U EAl H BF Borh B gL, Ure, I[EmE, Fe, A AR §%E TT W T AT gl AT 56 sl oar
Rfees Rufaar o 2 3
IfE T T T FW g, O T8 = Boe W ST & 37 gRm?

il T
o |E o |E
i 11
Options:
1. v &=



Question Number : 11 Question Id : 9983678057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If *+* stands for division.’ <" stands for multiplication,® X " stands for subtraction and‘—’ for addition, which one of the
following is correct?

Options:
1. % 36 +12—14+ 10 X4 =400

36+12 + —4=3
9 o 36+12+14x10-4=36

3 % 36 X 12+14 =+ 10-4 =32

4 = 36 +12 x 14+10-4 =440

Question Number : 11 Question Id : 9983678057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE '+ FT Y ART SAT E, (- F WY IOV FGA ¢, x O H 7T T g AR L F HY Fgar g A
Taad & ¥ #i7 @ T8 &2

Options:
1. = 36 +-12-14 + 10 X4 =400

2 56+ 12 = 14 X 10—4=36

3. 0% 36X 12+14~ 10-4 =32



4. % 36+12x 14+10-4=440

Question Number : 12 Question Id : 9983678058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the set of symbols which can be fitted correctly in the equation.

10 & 16 8 4="74

Options:

1. = =557
2.4 5057
3.% 55T
4 % 55T

Question Number : 12 Question Id : 9983678058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A= fgT a0 FAEROT F WEr @ ¥ WAISAT &1 Fehel aTel Fcllehl o HHE @ AqA B

10__ 6 16 8 4 = 74

Options:




Question Number : 13 Question Id : 9983678059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question two statements are given followed by two conclusions, I and II. You have to consider the
statement to be true, even it seems to be at variance from commonly known facts. You are to decide which of the given
conclusions can definitely be drawn from the given statements.

Statements:
All eycles are cars.
All cars are buses.

Conclusions:
E All cycles are buses.
IL. All buses are cycles.

Options:
1. « ©Ounly conclusion I follows

2 % Only conclusion II follows

3. % Both conclusion I and IT follows

4 = Neither conclusion I nor conclusion II follows.

Question Number : 13 Question Id : 9983678059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T T # & Fua 3R & oy | 3 1| Be o7 & 3fT Fus gHeaa: A9 90 ¥ feaar
WS 2 ar & 32 7 A foifE +t & ffr 7 Fu=t @ 37 77 o=y Aftag =7 @ S =
T ¢l

chad:
Tl ofere #R #1
sl FX oI5 F

st
I. msfr Trsferer T €
1. Tsfr s @l g

Options:

1 o = sy | 3TEROT T B

5 ael [y || 80T HLam gl

3 s | 3T 1l 3= 3T R 2

4 x 7 ar sy | 7 & fswy 11 srgERor e gl

Question Number : 14 Question Id : 9983678060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question three statements are given followed by four conclusions, I, I, ITT & IV. You have to consider
the statement to be true. even it seems to be at variance from commonly known facts. You are to decide which of the
given conclusions can definitely be drawn from the

given statements.

Statements:
Some trees are papers

1
2. All papers are ink
3. Some ink are blue

Conclusions:
L Some inks are trees
II. Some papers are trees

III. Some blue are papers
IV.  Some blue are ink

Options:
1. % ©OnlyIandIII follows.

? % OnlyIandII follows.

3 x OnlyL II and III follows.

4. » OnlyL IIand IV follows.

Question Number : 14 Question Id : 9983678060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T g # 9 a7 3k Ix &7 |, 11, 1l 3T IV fer oiv &1 3fg Fue AT | a2t
B Beaar @ & o off 308 9T 7| e =t & BT or et ¥ FiT wr ey Rt e w

frTaT 3T T £

YA
1. o 95 FO1S ¢l
2. Tefr FreTe TR F
3. 5 e, He T g

ey

. 3T T 93§

I. T FE 93 £l

ll. F= At TT, FE &
IV. Fo e @1, T

Options:

1 x sael | 3T 1l e I E

2w Faer | AR 1l HFEI0T A g

3y Al 11 3R I HFEIOr A F

4. o LA IV HFEOT FA g

Question Number : 15 Question Id : 9983678061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question four statements are given followed by three conclusions, I, IL, III. You have to consider the
statement to be true, even it seems to be at variance from commonly known facts. You are to decide which of the given
conclusions can definitely be drawn from the given statements.

Statements:
1. Some ducks are boxes.
2. Some boxes are famous.
3. All famous are players.
4. Some singers are boxes.
Conclusions:
I Some boxes are not singers.
II. Some boxes are players

III.  Some players are famous
Options:
1. » OnlyIfollow.

? Only II and III follow.

3 x OnlyIandII follow.

4. s All follows.

Question Number : 15 Question Id : 9983678061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fe@d T # I Fad AT a7 Twy |, 1| 36T 1 ffw = &1 3fg +us gFeaa: /g a2 9

Mg e I g T A T A F Rt mEI g s o ooy AT s o
faerTeT ST Tehar B

U
1. T Fcod I ¢
2. FT 990 WS £
3. meft wftg e &
4. T TAF TR F|

forser:

. T T TTH 7@ ¢
Il. Fo s e F

Il. o Bemdr wfag &

Options:



1 x el | FTEIOT FIAT g

5 o Fae |l HR Il FTET FS £

3« el | 3T I HTEIOT gl

4y T TEOT R B

Question Number : 16 Question Id : 9983678062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Seven boys A, B, C. D. E. F, and G are standing in a straight line as follows:

i) C is standing between A and G.
i) B is standing to the left of E.
iil) @G is standing between C and E.
iv) D andF are to the right of C

V) F is standing to the right of D

Who is standing to the extreme left?
Options:
1. = E

4 v B

Question Number : 16 Question Id : 9983678062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|d &5+ A, B, C, D, E, F 3R G v& ¥rft sar # egar @3 &

i. C, A 3T G & 9= 7 @sr 7
i. B, E & &1 3R @ ¢
i. G, C 3T E & &9 & @ ¢
iv. D3R F, C & g 3T @2 ¢l
v. F, D % &% 3T @sT &

& T TR F HTAR TA qE HR P TIT 2

Options:

1. = E
2?2 = F
3. = G
4, v B

Question Number : 17 Question Id : 9983678063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Seven boys A, B, C, D. E, F, and G are standing in a straight line as follows:

i) C is standing between A and G.
i) B is standing to the left of E.
iii) G is standing between C and E.
iv) D andF are to the right of C

V) F is standing to the right of D

Who is standing exactly in the middle?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:



Question Number : 17 Question Id : 9983678063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T @5F A, B, C, D, E, F 3N G v& ¥l 7ar # fAragan @ &

i. C, A3 G & 9= & @=r g
i. B, E & =12 3T @ &
i. G, C 3R E & §=9 & @=r ¢
iv. D 3R F, C & o 37 @2 &
v. F, D % 2F 3 @1 2|

& TS SAHNET & R W &< H FlT T g2

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. C



Question Number : 18 Question Id : 9983678064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Read the given information and answer the question the follows.

‘A + B’ means ‘A is the mother of B.

‘A — B’ means ‘A is the brother of B”.

‘A * B’ means ‘A is the father of B'.

‘A =+ B’ means A is the wife of B".

IfP+Q—-R xS+ T xU, then how is R related to U?
Options:

1. &= Uncle

? % Brother
3. % Father

4. v Grandfather

Question Number : 18 Question Id : 9983678064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A & T AAHR F ¢ AR 3 IFFAR oA H e &

'‘A+B FTHTE'A BFrarg
'A-B @ HT g 'A, B F &S T
'A x B' T HT ¥ 'A, B F Raw F
‘A + B & 3T A, B FT O F

TEP+Q-RxS+TxU¢g aTRFUF FIT 7T 22

Options:



Question Number : 19 Question Id : 9983678065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Positions of which two signs need to be interchanged in the given mathematical equation to make it correct?

30+2—-56%x8+2=35

h

Options:

1. %« +and-
? % +and+
3.« ~andx
4 = +andx

Question Number : 19 Question Id : 9983678065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T # o 5 & ReEar & 3y 7 96 fr s w Rar srar sifoda gefestor |dr @1 Seen?

30+ 2-56x8+2=5b
Options:



Question Number : 20 Question Id : 9983678066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which figure will follow in the given series?

72 <> N

Options:

<

1



3.

Question Number : 20 Question Id : 9983678066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& AL HWT H HIA-H HFHT a1 H HwE

[N
\ b
\;\:\
a \\
I §

Options:
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Sub-Section Id: 998367508
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9983678067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Read the given information and answer the question the follows.

‘A + B’ means ‘A is the mother of B*.
‘A — B’ means ‘A is the brother of B’.
‘A ® B” means ‘A is the father of B’.
‘A + B’ means “A is the husband of B".

HVxP-Q+R+S~+T+U, then how is S related to V?
Options:
1. ®« Son

? % Brother
3. % Father

4« Grandson

Question Number : 21 Question Id : 9983678067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A & TS FAASNT F ¢ AR FHEF IFFAX TA HT el G

'‘A+ B F: HTE'A B Fr AT
'‘A-B @ AT g 'A, B F &2
'A x B & 3T ¥ 'A, B T far &
‘A + B Fr 3 § A, B FT afa ¥

TEVxP-Q+R+S+T+U¢% arsS Vo = gae g?

Options:



Question Number : 22 Question Id : 9983678068 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A square transparent sheet with a pattern is given. Figure out from amongst the four alternatives as to how the pattern
would appear when the transparent sheet is folded at the middle line shown.

Question figures:

oy
S

Answer figures:

7y
LR

(1) (2) (3) (4)

Options:

1. = 2



Question Number : 22 Question Id : 9983678068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF YA & WY TF 3 qreel T g o §l =@ ofie F @ seer A W@ o /e e o
Yo R 71v 9r et 7 ¥ B e & Sr fegem)

99 T

N

S P

(1) (2) (3) (4)

e
AN

Options:



Question Number : 23 Question Id : 9983678069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Count the number of triangles and squares in the following figure:

Options:
1. % 20 triangles, 5 square

? % 24 triangles, 6 squares
3  28triangles, 5 squares

4. % 30 triangles , 6 squares

Question Number : 23 Question Id : 9983678069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rrafaf@a smefa 7 Rt 3k a9 @ wEar & e &

Options:

1w 20 TS, 5

5 24 T 6 T



5 o, 28T 5

A w 30 T, 6 T

Question Number : 24 Question Id : 9983678070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Count the number of triangles in the given diagram and select the correct option.

Options:
1. = 19

? % 20

Question Number : 24 Question Id : 9983678070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e a1v s A Tt & wEar f e HOAR B v et 7 ¥ w8 Reew o 9aa w1

Options:

1. % 19
2 %« 20
3 % 21
4, v 22

Question Number : 25 Question Id : 9983678071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word from the following options that CANNOT be formed using the letters of the given word only as many
times as the letters have been used in the word.

TRANSLUCENT

Options:
1. = TENT

? % CENT



3. % RENT

4. v BENT

Question Number : 25 Question Id : 9983678071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT FFear & ¥ 39 e F1 I8 L o7 A= BT 71T o5 & 3HeW FH 34T &7 a7 3T

FTh AR FATAT ST HehdTl

TRANSLUCENT
Options:

1. % TENT
2 % CENT
3 % RENT
4. «» BENT

Question Number : 26 Question Id : 9983678072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which one of the answer figures shall complete the given question figure?

Question figures:

[e]

[=]

Answer figures:

SER ARSI

(1) (2) (3) (4)

Options:
1.+ 2

2. % 1

Question Number : 26 Question Id : 9983678072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



o 7 8 #iF @ 3w ampfa, & 7% 9o smgpia & qur e

ST P

SER ARSI

(1) (2) 3) (4)

Options:

1. v 2




Question Number : 27 Question Id : 9983678073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fom 7 & 7 & 3cax 3mpia, & 7% T Hpia Fr qEr HE?

ST TP

Feal TP

o /_f p V
(1) (2) (3) (4)

Options:

Question Number : 27 Question Id : 9983678073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which one of the answer figure shall complete the given question figure?

Question figures:

Answer figures:

(1) (2) (3) (4)

Options:

1. % 1

? % 3

I

3. v

4 s 4

Question Number : 28 Question Id : 9983678074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pointing to Ashok, Sandhya says, “He is the son of my grandmother’s only child”. How is Ashok related to Sandhya?

Options:

1. ® Cousin



? « Brother
3. % Uncle

/4. % Brother-in-law

Question Number : 28 Question Id : 9983678074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T, 372N Hr 3R FURT T §T FA ¢, "IF A S F FHel T F AT &1 INNF F AT
FIT FEYT £

Options:

1.« TR

2. v ®

4_&337#3

Question Number : 29 Question Id : 9983678075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Vineet starts his journey on a motorcycle from his shop and rides 10 km towards the west. Then, he turns left and rides
10 km. Finally, he turns left again and travels 20 km to reach a bike service centre. In which direction is his shop with
respect to the service centre?

Options:

1. «+ North-west

7 % South-west



3. % South-east

4 = West

Question Number : 29 Question Id : 9983678075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faeira smoel g @ ArerEmsa W AT % war ¢ 3R 9f¥Es #r 3R 10 km #r gfF T Far
gl Y, g a7 Fgsar & 3R 10 km T FF FO FaT 8| FT A, @ BT F AW Fg3ar @ A T
95F Tl F5 dF TgaA & AT 20 km F I TT FAT B TFF WA Fg F W H 3T gFA
T fem AT FI?

Options:

1. v 3cal-dafe=A

5 . efEvrfREm

Question Number : 30 Question Id : 9983678076 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Six persons, P, Q. R, S, T and U, are sitting around a circular table facing the centre and at equal distance from each
other. P is second to the right of Q. U is between R and S. T is second to the right of S. Who is sitting third to the left of
T?

Options:

1. P

2.v U



Question Number : 30 Question Id : 9983678076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

OF ¥, P, Q, R, S, T 3R U, & e A7 & IR 3R A & Fhogy # 3K 78 =& AN H g @
TAA T RIS P, QF TR N AU U RIARSF Ao Fdar 81 T, S & &% 3R F g80
g1 T & ar¢ & e, i Jor 872

Options:

1. = P
2. v U
3. % S
4, = R

Question Number : 31 Question Id : 9983678077 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Ashwin wants to book a ticket to Tirupathi. He starts and covers 8km to reach the booking Office which is in the East of
his house. From there he turns to the North towards the vegetable market by travelling 5 kms. From there he turns left to
his friend Swapna’s house which is 8kms away. Now he has to get back to his house.

How far he has to cover to reach his house?

Swapna's house 8 kms
EJ. f: Vegetable market
5 kms
5 kms
0l O
Heuse 8 kms Bocking office

Options:



1. = Skm

? « Skm

3 % 26km

4 % 3km

Question Number : 31 Question Id : 9983678077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3w foRafy o & e Ree 9% & @ear 81 3 seiew 309 o & @ Rer & #r e g,
AR W A T TF A F AT IF 8 km Fr g 7 T ¥ T X Tg 5 km oo F AR ToAA ¢

3R geslr A 9T ST §1 TeT W T AC IR HOGA ST FOAT F B A ¢, AT TG E 8 km H

gt W g §1 3 38 I3 W aw S gl

I WY T TgE % T 30 fRae gl aF wedr g

AT & HY 8 kms

Ll [ mea TE7

5 kms
5 kms
1 '
ary 8 kms AT FETT

Options:
1. = 8 km
2. ¢ B km

3. % 26 km



4 = 3 km

Question Number : 32 Question Id : 9983678078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aparna starts walking towards North. After walking 30 meters she turns towards south and walks 50metres. She then
turns towards east and walks 20 meters. Then again, she walks 20 meters towards North. How far is she from her
starting point and in which direction?

Options:

1. = 20 m west
? % 10 m East
3. % 10 mNorth

4] « 20mEast

Question Number : 32 Question Id : 9983678078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YU 3ea ® 3T TomaAT Y& HT g1 30 HeX Tt & a1g I¢ Sharor T AT J3 &
3R 50 e TorcT ¢ 39 97 B 97 F 37 g § 3k 20 e g F R @
3cak HT 3R 20 FHeX Tt g1 0T L F g 3o gy g @ fhaer g # 3k
frg faer & 2

Options:

1. = 20 #Frex aftgs

5 o 10 #T

3. % 10 #HET 3°RN



Question Number : 33 Question Id : 9983678079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A prime number between 50 and 130 remains unchanged if its digits are reversed. Then the square of that number is:

Options:
1. = 11881

7 % 14641

3.« 10201

A % 9801

Question Number : 33 Question Id : 9983678079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

50 3 130 F T Fr v TH A=Y TEAT THEF HH F Foke GAT AC A ff 77 FEw FuREad
AT &1 3T TEAT F AT FAT EE?

Options:
1 % 11881
5 14641
3. v 10201
A % 9801

Question Number : 34 Question Id : 9983678080 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

COT :450:: BMN:?
Options:

1. % 364

? % 728

3 % 210

A v 182

Question Number : 34 Question Id : 9983678080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

37 fawed & 79 F{ S W 98 ¥ 3 TR Hefad § 9H THR gEU 9¢, YA 9¢ § HeTOd g

COT : 450:: BMN : ?

Options:
1 « 364
2 % 728
3. % 210
4. » 182

Question Number : 35 Question Id : 9983678081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A cab driver wants to travel a distance of 400km. He travels with the speed of 80 kmph. He takes rest at 3 different
places for 30 minutes, 60 minutes and 30 minutes respectively. He started his journey at 10:00 am. At what time does he
reach his final destination?

Options:

1. = 1:00 pm

? % 5:00 am

3 » 5:00 pm

A % 3:00 pm

Question Number : 35 Question Id : 9983678081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T FF T 400 km F T TF I FIAT TEAT #1 IF 80 kmph Fr ITWAR T Terar g T 38 3
HAT-HAT TATAT 9T FHLT: 30 A=, 60 e 3k 30 Pae I 3H Far 21 gEaT F 9= Irr
gag 10:00 amweﬁﬁamagm:iﬁﬁrwmmqgﬁﬂm

Options:
1. = 1:00 pm
72 % 5:00 am

3 » 900 pm

A, = 3:00 pm

Question Number : 36 Question Id : 9983678082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Given is a statement followed by two courses of action. Assuming the statement to be true, decide which of the given
courses of action logically follow(s) from the statement.

Statement:
ABC Ltd. has been incurring losses for the past | year.

Courses of Action:

E The company should put a check on wasteful expenditure.
II. The company should be closed forever.
Options:

1. « OnlyIfollows.

? % OnlyII follows.

3. % BothIand II follow.

/. % Either I or II follows.

Question Number : 36 Question Id : 9983678082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁ%wmﬁrmmﬁaa‘rmﬁwﬁ g FUF FF [ RE & ToT AT ge Fufig &1 &F
A 7 ¥ Fad FEE afds mmﬁmmﬁr% &

Cirm
TF F9r ABC Ltd. Boer 1 e ¥ Ot & I &Y 81

FHAETS:
. FOeAr @ el @l @ AT FHET AR
l. &9=ir T gH & T 55 & &7 Tiewl

Options:

1 Faer | FTEIOT FIAT g

2 % el || 3THIOT & gl



L 3R 11 St ITEOT S g

A o« T ar | 7 1l T80T HIT g

Question Number : 37 Question Id : 9983678083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which figure is different from the rest?

V V
A A
V V
A A
(1) (2)
V V
= >
= - A N
(3) (4)
Options:
1l.v 4
2. % 3
3.% 2
4, % 1

Question Number : 37 Question Id : 9983678083 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

e 7 & lad Jepfa 3= pfaal & &ew 87

V V
A A
V V
A A
(1) (2)
\ V
= >
~ - A A
(3) (4)
Options:
1. v 4

Question Number : 38 Question Id : 9983678084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct alternative from the given ones that will complete the series.

6, 14, 30, 62, 126, 254, ?
Options:



Question Number : 38 Question Id : 9983678084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

37 e & T9a F S HTAT F G FHEM

6, 14, 30, 62, 126, 254, ?

Options:
1 = 520
2 % 458
3. v 510
A % 500

Question Number : 39 Question Id : 9983678085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct alternative from the given ones that will complete the series.

18, 54, 62, 310, 320, 2240, :

Options:



1. % 2265

7 @ 2252

3 % 1600

A % 960

Question Number : 39 Question Id : 9983678085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

37 e & T9a F S HTAT F G FHEM

18, 54, 62, 310, 320, 2240,

Options:
1 = 2265
2. v 2252
3« 1600
A % 960

Question Number : 40 Question Id : 9983678086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing term in the given series:

4 14 20 44 36 74 52 7
Options:



1. = 96
¥ % 100

3 % 102

4, v 104

Question Number : 40 Question Id : 9983678086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&1 7 AW H o 9E AT Y

4 14 20 44 36 74 B2 7

Options:
1. = 96
2 % 100
3 % 102
4. «» 104
General Awarenessl
Group Number : 3
Group Id : 998367349
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness1

Section Id : 998367355

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367509
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9983678087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The term cyclone is derived from Greek word “Cyclos’ which
literally means?

Options:

1. = Coils of Snow
2. v Colls of snake
3. = Colls of fire

4. = Colls of stone

Question Number : 41 Question Id : 9983678087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TISFallel (TshATT) %G FT 3cled dih o 'TABFaT & g@?
&, TS gehT erfecar 3T &7

Options:

1. = &7 & F5 (Coils of Snow)




2. v OIT & i%?»r (Coils of snake)
3. = 31f9a F3 (Coils of fire)

4. = TcdT hl fi;wsm (Colls of stone)

Question Number : 42 Question Id : 9983678088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Richter Scale is used for measuring the intensity of?

Options:

1. »= Sound pollution
2. = Acid Rain

3. = Light

4. v Earth quake

Question Number : 42 Question Id : 9983678088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

FeT THel T 3TANET TdeT A T TRT<hT digar ATa & oIw
T Srar §7

Options:

1. » egfel ggyor
2. % 37Fol Nl

3. % Yhrer
4. v 3TRT
o,

Question Number : 43 Question Id : 9983678089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kanha National park is located at

Options:

1. v+ Madhya Pradesh
2. » Punjab
3. * Maharashtra



4. « Haryana

Question Number : 43 Question Id : 9983678089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fleal TSCIT 3EdTel " T gl

Options:

1. v HACT vael
2. = YolTe
3. » FERTSE
4. = gRrom

Question Number : 44 Question Id : 9983678090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is not an acronym synthetic
non-biodegradable polymer?

Options:

1. = PVC

2. » LDPE
3.v PHBV
4. » HDPE

Question Number : 44 Question Id : 9983678090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feIToT&aT # & Hid & Teh FAA oI Hﬁﬂmm
(synthetic non-biodegradable polymer) =T eTg&®Y c‘rlﬁ' g7

Options:

« 9T (PVC)
2. « ToETdE (LDPE)
3. v froEET (PHBY)

4, = TadTdE (HDPE)




Question Number : 45 Question Id : 9983678091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who has won the best actor in leading role award at the 91st
academy (Oscar) awards ceremony?

Options:

1. = Alfonso Cuarian
2. v Rami Malek
3. = Mahershala Ali
4. = John Ottman

Question Number : 45 Question Id : 9983678091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

91 T 3RIEAT (3FHT) [ERN TANE H 70T fAFT A
HqAASS AT FT WERT fordtel SiaT?

Options:

1. » 3eHET FERAT
2. v TAT ATl

3. = FEILTET 37ell
4, = Sfel 3McHe

Question Number : 46 Question Id : 9983678092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Mount Etna which erupted on 24th December 2018 is a
present in which country?

Options:

1. v Italy

2. = Portugal
3. = Germany
4, = Spain

Question Number : 46 Question Id : 9983678092 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

24 f&gsT 2018 &1 SE[d g3m HI3C UCAT oAt H Tohg o7 H
AlSlE 87

Options:

1. v sea
2. = qAdel
3. % SIHEAT
4,

Question Number : 47 Question Id : 9983678093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where was the 26th Edition of National Children’s Science
Congress held in India?

Options:

1. = New Delhi

2. = Raipur

3. » Hyderabad

4. v Bhubaneshwar

Question Number : 47 Question Id : 9983678093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H TSERT STel Ta ATl AT hT 2607 TERLOT FHal
TSI fohar a=m ar?

Options:

1. # o foed
2. * TAR
3. » geqETg
4.%313?‘%31'

Question Number : 48 Question Id : 9983678094 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Which high court has ordered a ban on sale of medicines
online across the county in December 2018?

Options:

1. = Patna High Court

2. * Bombay High Court
3. v Delhi High Court

4. = Allahabad High Court

Question Number : 48 Question Id : 9983678094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forE 3T waTeg o fGEeY 2018 # 297 9 H 3Hiadasd aarat
T fShT o ufaeer oRmer &1 e =ar?

Options:

1. = O&dT 3Td =&

2. x S8 3d AT
3. v ool 3= «Te

4, = Zollgldla 3vd «drdleld

Question Number : 49 Question Id : 9983678095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which modern place India do you associate the Kakatiya
dynasty?

Options:

1. = Aurangabad
2. v Warangal

3. = Mysore

4. » Madural

Question Number : 49 Question Id : 9983678095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IMYfoTeh T T FHlel AT FATT FTehcl 1 ToTael T HeTad &7

Options:

1. = 3EEE
2. v gaTel

Question Number : 50 Question Id : 9983678096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Gupta king is popularly known as Vikramaditya’'?
Options:

1. v Chandragupta II
2. * Kumaragupta
3. » Skandagupta

4. = Samudragupta

Question Number : 50 Question Id : 9983678096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forer aea T Y fAkATET & SH & ST ST 87

Options:
1. v dogdred |l
e

2. % hHANICI
M M

3.&%‘@?

4. = HHGICA
P R

Question Number : 51 Question Id : 9983678097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Vijayanagara Empire of south India is divided into four
dynasties.Which one of the following is not one among them?

Options:



1. = Sangam dynasty
2. = Saluva dynasty
3. = Tuluva dynasty
4. v Chola dynasty

Question Number : 51 Question Id : 9983678097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

28T IR &7 (S9N g9ETsy IO Torget & [Bafera ar
e &d # @ i AT 3aH & Tah ol o7

Options:

1. % FIH FeT

2. = g aer

3. = dold el
Fun B

4. v TeT goT

Question Number : 52 Question Id : 9983678098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who founded the Abhinav Bharat Society in India in the year
19037

Options:

1. = Rasbehari Bose

2. = Lala Lajpat Rai

3. » Bal Gangadhar Tilak

4. v Vinayak Damodar Savarkar

Question Number : 52 Question Id : 9983678098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a¥ 1903 # #RT # “3iTHag R O HT TUTIT e
Fr?

Options:




* {TETSEHRT S

® ellell ellaiNdd 1

« STeT IPNUYT Tdeleh

ol

v B ZTaEeT "Jradal

Question Number : 53 Question Id : 9983678099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which constitutional amendment act gives constitutional
status for Panchayati Raj Institutions?

Options:

1. » 63rd Constitutional amendment act
2. v 73rd Constitutional amendment act
3. = 53rd Constitutional amendment act
4. » 93rd Constitutional amendment act

Question Number : 53 Question Id : 9983678099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

il O GauTfers Telus fAfEad TR TsT a3t i
JaYTTeleh 2oIT ol &7
1p.w63afa"&ﬂﬁ$mﬁu?rsﬁﬁw

2. v 73aT e @enyge sfafaas

3. = 53aT dulfersh Tenyer fafas

4. = 93aT TdUTfeer Tl fAfags

Question Number : 54 Question Id : 9983678100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per which constitutional amendment act, the age of
retirement of High court judges has been increased from 60
years to b2 years?



Options:

1. = 35th amendment act
2. » 25th amendment act
3. v 15th amendment act
4. » 45th amendment act

Question Number : 54 Question Id : 9983678100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e gauTferes @enee ATATATH FT areear #, 3w I=edT &
w1 Qarfegicd 1 3 60 a¥ & TR 62 T HT

R X

Options:

1. = 3531 gy« ATafaas
2. = 2531 "y fafaasm
3. v 1547 GadeT TATATH
4. = A5TT T ATITaTH

Question Number : 55 Question Id : 9983678101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was the Lokpal and Lokayukta bill passed by
the Lok Sabha?

Options:

1. = 2007
2. = 2009
3. v 2011
4. = 2010

Question Number : 55 Question Id : 9983678101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SNRERT SgRT dehdTel 3T elehrere forel fover a¥ & iR
feram aram ar?

Options:

1. = 2007
2. = 2009
3. v 2011
4. = 2010

Question Number : 56 Question Id : 9983678102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of the Indian constitution says the state shall
endeavour to organize agricultural and animal husbandry on
modern and scientific lines?

Options:

1. = Article 38
2. v Article 48
3. = Article 28
4. = Article 18

Question Number : 56 Question Id : 9983678102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TGl & 58 3ezoe # Fegl 77 & oF Tsg FiY
3R gerdTelel T 3MYfaleh 3T JATAR Tol W TS Flel T

UM SheaTT?

Options:

1.&3@1@338
2.&?31@?&?{48
3.&3@1@328




4. = 3Iee 18

Question Number : 57 Question Id : 9983678103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

With which article of the Indian constitution do you associate
promotion of the International peace and security?

Options:

1. v Article 51
2. » Article 41
3. = Article 31
4. = Article 61

Question Number : 57 Question Id : 9983678103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR HITUTeT T el AT efesde Scedrg enfd 3T Fearm
I JerdT 3o & FEiad &7

Options:

1.@31@175351
2. = 3Iede 41
3. = 3ecae 31
4. = 3HIede 61

Question Number : 58 Question Id : 9983678104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of the Indian constitution grants rights of
citizenship to certain migrants from Pakistan?

Options:

1. = Article 5
2. v Article 7
3. = Article 9
4. = Article 10




Question Number : 58 Question Id : 9983678104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARAT TG & FF ezoe & Ted UIiehedla & 37Te aTel
S JAIHAT I ARTRHRAT & YRR fGU 70 87

Options:

1. = 3doe 5
2. v 3eede 7
3. * 3o 9
4. » Hazoe 10

Question Number : 59 Question Id : 9983678105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The term stone-walling is associated with which one of the
following sports?

Options:

1. = Rughy

2. v Cricket
3. » Hockey
4. = Polo

Question Number : 59 Question Id : 9983678105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl difolaT eeg folFaifolidd H & forg Tol & G190 g7

Options:

1. % @&
2. v Tohehe
3. = BIehT
4. = Grell

Question Number : 60 Question Id : 9983678106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



With which game the Claret Jug Trophy Is associated?

Options:

1. v Golf

2. » Chess

3. = Table Tennis
4. » Badminton

Question Number : 60 Question Id : 9983678106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Follc ST9T ST Tohd Tel & HITUT &7

Options:

1. v aMe®m
2. = Il
3. = ool fad
4, « osTHcA

General Awareness2

Group Number : 4
Group Id: 998367350
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness?

Section Id : 998367356
Section Number : 1
Section type: Online

Mandatory or Optional: Mandatory



Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367510
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9983678107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who won the player of the series award for 1992 ICC cricket
World Cup?

Options:

1. = Dilip Vengsarkar
2. » Imran Khan

3. v Martin Crowe

4. = Vivian Richards

Question Number : 61 Question Id : 9983678107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1992 & ICC Tohehe [T &9 H 'TolIY 3HTH & ATRST 3drg
Torge Sar?

Options:

1. = feolT JeraTea
2. % SHITel Wl

3. v HIET hr

4. » TOTggs =sd

Question Number : 62 Question Id : 9983678108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which India state, the hornbill festival is celebrated?

Options:

1. v Nagaland
2. % Assam



3. » Rajasthan
4. = Uttarakhand

Question Number : 62 Question Id : 9983678108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bldlldel BN AR & g T H HATIT STdT &7

Options:

1. v TS
2. % 3H

3. % J[oFT

4. = 3cadTEE

Question Number : 63 Question Id : 9983678109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Zu tea 1s famous in which Indian state?

Options:

1. = Rajasthan
2. » Assam
3. v Mizoram
4. = Odisha

Question Number : 63 Question Id : 9983678109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sl I (Zu tea) ¥RA & [T TsT # v &7

Options:

1. = {TSTEATA

2. % MOH
3. v TAH
4. = 3T

Question Number : 64 Question Id : 9983678110 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

The Ghoomar dance is famous in which Indian states?

Options:

1. = Kashmir

2. v Rajasthan

3. » Madhya Pradesh
4. = Kerala

Question Number : 64 Question Id : 9983678110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P 3fcd 9NT & ha T & uRag &7

Options:

1. = HeAR

2. v ST
3. » AEY ydel
4, = FToT

Question Number : 65 Question Id : 9983678111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which country’s capital is Apia?
Options:

1. = Cyprus

2. = Estonia
3. v Samoa
4. = Finland

Question Number : 65 Question Id : 9983678111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M= g S 1 TeTaTer 87

Options:

1. « T



2. = QUEaIferr
3. v AT
4. = Thelolg

Question Number : 66 Question Id : 9983678112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rajghat Dam is an interstate project between which two
states in India?

Options:

1. = Orissa and Jharkhand

2. v Madhya Pradesh and Uttar Pradesh
3. » Andhra Pradesh and Telangana

4. = Rajasthan and Gujarat

Question Number : 66 Question Id : 9983678112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ISTHTE dT AR o Tohel & T<AT o AT hl Teh AW
qRITSTaT 87

Options:

1. = 3if8er 3R IREs

2. v AT 9&eT 3N 3ol Wl
3. = 3T Uge A Jelerar
4. » ToTEdTe AT eI

Question Number : 67 Question Id : 9983678113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the total number of districts in Himachal Pradesh?

Options:

1. = 20
2. % 18



3.»v12
4 %15

Question Number : 67 Question Id : 9983678113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feaTerer gaer & ol fohctal forer &7
Options:

1. = 20
2. = 18
3. v 12
4. = 15

Question Number : 68 Question Id : 9983678114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Saansad Adarsh Gram Yojana (SAGY) was launched by Prime
Minister Shri.Narendra Modi in 2014 to mark birth
anniversary of?

Options:

1. » Lal Bahadur Shastry

2. v Lok Nayak Jay Prakash Narayan
3. » Acharya Vinoba Bhave

4. » Sardar Vallabhai Patel

Question Number : 68 Question Id : 9983678114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HHe 3eel ATH ASTell (SAGY) HT THRH TITTAAT A7 aig
ART o 2014 & & & oA Gagg & 3¥gaxy 9 Rar?

Options:

1. = el FETEY QTTEAT

2. v oIk dATThR T WhTeT ARTI0T



3. » 3 [T HE
4, » GIEN deod HS Ued

Question Number : 69 Question Id : 9983678115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the chairman of 14th finance commission of India?

Options:

1. v Y.V.Reddy

2. » RangaRajan
3. = D.Subba Rao
4. = Vijay Kelkar

Question Number : 69 Question Id : 9983678115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & 14 T T&cd 3RNeT o 3TETET hidd &7

Options:

1. v a=.d1 IBar
2. » TIRTelA

3. = 3. gear I1d

4. » TSI FolhT

Question Number : 70 Question Id : 9983678116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The headquarters of Asian Development Bank (ADB) is
located in?

Options:

1. ¥ Manila, Philippines

2. » Kuala Lumpur, Malaysia
3. » Tokyo,Japan

4. = Doha, Qatar



Question Number : 70 Question Id : 9983678116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vierTe fdeer T s {Asian Development Bank (ADB)} T
AGEATer shgl e &7

Options:

1. v Heilell, Thelldig

2. * FIMATAF, HelTer=T
3. % 2rFAl, SAT9Te

4. = TG, $

Question Number : 71 Question Id : 9983678117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘CETANE’ number is used to express the quality of which one
of the following fuels?

Options:

1. = Coal

2. » Petrol
3. v Diesel
4. » Wood

Question Number : 71 Question Id : 9983678117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

CETANE (f&ed) §&AT FT 39T foieeT & & ThE SS9 T
IUTEccT I eFFd el & v foRar Sirar 87

Options:

1. = RIFell
2. = gl
3. v Srelel
4. % ofhgl




Question Number : 72 Question Id : 9983678118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What can be measured using Pyknometer?

Options:

1. v Relative density of liquids and solids
2. = Purity of milk

3. = Internal cracks in ornaments

4. = Refractive index gems

Question Number : 72 Question Id : 9983678118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TOFaTATET T 3UAT Hlah FAT ATIT AT Hehdl &7

Options:

1. v TR 3N 3 FT 3MUfETR Helcd
2. = T T G
3. = 3MHEUN H 3ANE IR

4. = Ycoll T 3acien FAhlh

Question Number : 73 Question Id : 9983678119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Alizarin is a type of?

Options:

1. = Detergent
2. v Dye

3. = Cement
4. = (lass

Question Number : 73 Question Id : 9983678119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Vet (Alizarin) Teh TR &1 gl

Options:

1. = 3¥9ATeIR (Detergent)




2. v T (Dye)
3. = HIiAC (Cement)
4. = &I (Glass)

Question Number : 74 Question Id : 9983678120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pantothenic acid is the chemical name of which one of the
following vitamins?

Options:

1. = Vitamin B7
2. » Vitamin B12
3. v Vitamin B5
4. = Vitamin B10

Question Number : 74 Question Id : 9983678120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fTaEd & & g [Jaf@a 1 9™ a7 dardfas
ufgs &7

Options:

1. = fderfda B7
2. = faarfds B12
3. v faerfas B5
4. = A« B10

Question Number : 75 Question Id : 9983678121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MAGELLAN is the name of mission to which planet by NASA?

Options:

1. = Jupiter
2. v Venus



3. « Uranus
4. = Mars

Question Number : 75 Question Id : 9983678121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hiergrer (MAGELLAN) THerd, amar (NASA) & g Y& &
forw T TR T aTH &7

Options:
1p. % E'ILE'FCI‘% (Jupiter)
2. v g (Venus)
3. = ¥AF (Uranus)
4, = Harel (Mars)

Question Number : 76 Question Id : 9983678122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which launch vehicle lifted off the Mars Orbhiter Mission
(MOM) ( also known as Mangalyaan)?

Options:

1. » PSLV (-29
2. » PSLV C-27
3. v PSLV (-25
4.« PSLV (C-35

Question Number : 76 Question Id : 9983678122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 3ifeey e {Mars Orbiter Mission (MOM)} (o)
FITAT o oTH & #T ST AT §) &1 Fg 89T Ie &
g TohaT arar ar?

Options:

1. = droguedT @ -29 (PSLV C-29)




2. « dugwerdr a1 -27 (PSLV C-27)
3. v diuguedT @ -25 (PSLV C-25)
4. = qogwerdr d@r -35 (PSLV C-35)

Question Number : 77 Question Id : 9983678123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

India’s first beam weapon KALI-5000 was developed by?

Options:

1. = Hindustan Aeronautics Limited

2. v Bhaba Atomic Research Centre

3. = Birla Institute of Technology

4. = India Space Research Organization

Question Number : 77 Question Id : 9983678123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T T Ugell a1d AR KALI-5000 feraeh garT fawfad
ToRaT I/ =T AaT?

Options:

1. » fgegrara WareHs fafAds
2. v HTHT AT AT g
3. # Toel wigAferehr G&Tel

4. » AN AANE HATTLTA TS

Question Number : 78 Question Id : 9983678124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The headquarters of International Court of Justice is located
in?
Options:

1. = Paris, France
2. = Geneva, Switzerland



3. v Hague, Netherlands
4. = Dublin, Ireland

Question Number : 78 Question Id : 9983678124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FTSE =g aTerd {International Court of Justice (ICJ) =hT
HEITerd gl eud g7

Options:

1. = 9, W

2. = Toiaar, Faceols
3. v g9, dAlclas

4, = B§feld, 3TALes

Question Number : 79 Question Id : 9983678125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the rank of ONGC (Oil and Natural Gas Corporation)
among global energy majors as per S&P Global Platts ranking
for the year 20187

Options:

1. = 1st
2. % 9th
3. = 15th
4. v 21st

Question Number : 79 Question Id : 9983678125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S&P Felteel Tolew ferer, o Rearadw 39T Fufaay &1 &
STl arell AT &, & 3@ a¥ 2018 & 3Nl (der AT
TeRfcreh 3 faer) r Yo apier @dr &7

Options:



1. % 1

2.
3. = 15
4. v 21

Question Number : 80 Question Id : 9983678126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the present chairman of Securities and Exchange
Board of India (SEBI)?

Options:

1. = Ananta Barua
2. « I.Srinivas
3. = S. K Mohanty

4. v Ajay Tyagl

Question Number : 80 Question Id : 9983678126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR gfcsfa 3 fafeidma S {Securities and Exchange
Board of India (SEBI)} & TcIHTe 37eq& hiel &7

Options:

1. = 3Teld §3T
2. = 375, Afaard
3. » T, & AEar

4. v 3T T
Arithmetic Abilityl
Group Number : 5
Group Id: 998367351
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability1

Section Id : 998367357

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367511
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9983678127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of:

Options:

“e
\

Question Number : 81 Question Id : 9983678127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



=T &1 #1939 &4
23 222 R PR3 ND oD

Options:

Question Number : 82 Question Id : 9983678128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Solve the following:

405
=l
40.81
Options:
1. & 405

¥ & 450

3. % 45

A % 455

Question Number : 82 Question Id : 9983678128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



195 =9

4/ 0.81
Options:

1. = 405
2. v 450
3« 45
A. % 455

Question Number : 83 Question Id : 9983678129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Foood@ BB

Simplify: %

L | by
=1 | hf-a

Options:
16

1.+ 35

16

Question Number : 83 Question Id : 9983678129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Dol 8o S
FLER0T H 51—
gty
Options:
16
1. v 35
16
2 = 35
2w -1

Question Number : 84 Question Id : 9983678130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of:

Options:

1. = 1



ol =

4 =

Question Number : 84 Question Id : 9983678130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T & 79 79 F¢

1
1+ 11
1+
1+l
2
Options:
1. % 1
2. % 2
h
3. v 8
1
4, = 8

Question Number : 85 Question Id : 9983678131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the fraction of the below number?
0.616l61

Options:
1

1. = 61



61
7 % 100

61
3 % 1000

61
4« 99

Question Number : 85 Question Id : 9983678131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A= & T e & e T g

0.616161
Options:
1
1. = 61
61
2 % 100
61
3 % 1000
61
4. v 99

Question Number : 86 Question Id : 9983678132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A decimal number has 16 decimal places. The number of decimal places in the square root of

this number will be

Options:



[
i
b

Question Number : 86 Question Id : 9983678132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U ZUAGT HET, 16 ST T o #I g1 $H TEAT & FHA H GuAAT T 7 T
gt

Options:

4, v 8

Question Number : 87 Question Id : 9983678133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The value of:

W =
Options:



35

32
A % 100

Question Number : 87 Question Id : 9983678133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A=teT & 79 79 5L

3.5="2
Options:
32
1. v 9
35
2 % 9
35
3 = 10
32

4. % 100



Question Number : 88 Question Id : 9983678134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Express 0. 057 as a vulgar fraction.

Options:
19
1. = 33

57
7 % 100

19
3. v 333

/. = 1000

Question Number : 88 Question Id : 9983678134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0.057 & T HUROT fAeT (vulgar fraction) & &I H ffcmaa &+

Options:
19
1. = 33
57
2 = 100
19
3. v 333
57

A % 1000



Question Number : 89 Question Id : 9983678135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following fractions is the smallest?

Options:
27

1,$3m

29

Question Number : 89 Question Id : 9983678135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T # ¥ o998 oK e &l & g2

Options:
27
1. = 100
29
2 = 95



O 2

Question Number : 90 Question Id : 9983678136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Let F=0.841 81. When F is written as a fraction in lowest terms, the denominator exceeds the numerator by

Options:
1. = 85

? « 87

3 % 40

4 = 14

Question Number : 90 Question Id : 9983678136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT o, F=0.84181. T F & raw 97 I e & &7 7 sifdcgeg o smar & & s@er 2T, 3

o 31fereR & Frwem)
Options:

1. = 85

2. v 87

3. = 40



Question Number : 91 Question Id : 9983678137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two numbers are in the ratio of 4 : 3 . If their HCF is 135. find the numbers.
Options:
1. % 40,30

2 % 120,90
3 o 60.45

4. = 360.270

Question Number : 91 Question Id : 9983678137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar WEATT 4 : 3 & IFud # ¢ IR 3% Agead FAEas 15 ¢, d HEAW AT H|

Options:

1« 40,30

2 & 120,90

3, 60,45

4 % 360,270

Question Number : 92 Question Id : 9983678138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The smallest number of four digits, which when divided by 6, 8, 12 and 20 leaves no remainder is:

Options:



.

1. v 1080

7 % 1040

3 % 1250

A % 1200

Question Number : 92 Question Id : 9983678138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 37T HT 9F I ST HEAT Hi7 O g9, 5T 6, 8, 12 3y 20 ¥ Fenfog o7 W Fg AW 7T

=T 27
Options:
1. v 1080
2 = 1040
3 % 1250
4. = 1200

Question Number : 93 Question Id : 9983678139 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The ratio of the efficiencies of A, B and C is 8 : 5 : 7. Working together, they can complete a work in 70 days. C alone
will complete 30% of that work in:

Options:

1. % 63 days



2 060 days

3 72days

4], % 84days

Question Number : 93 Question Id : 9983678139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B 3 C # FretAasl & 3&9a 8 0 5 ¢ 7 g1 I ¥ A v wy fAeew ww wa § a
& F 70 G H @ FT F@hd g1 C ket 3H FH &1 30% Fhaet =T # g wm?

Options:

1. = 63 e

2. v 60 fe=

3, . 72%m

4. = 84 &=

Question Number : 94 Question Id : 9983678140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If5x + 2y: 3x+ 4y = 5: 7. findx: y.
Options:
1. = 1:3

7 % 11: 4



Question Number : 94 Question Id : 9983678140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 5x + 2y: 3x+ 4y = 5: 7 &, @ x: y & AA AT FL

Options:
1. = 1:3
2 % 11: 4
3. v 3:10
d = 1:2

Question Number : 95 Question Id : 9983678141 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

If the income of Vimal is 10% more than that of Deepak and the income of Deepak is 20% less than that of Shekar, then
the incomes of Vimal, Deepak and Shekar are respectively in the ratio:

Options:

1. = A1 5155 1LF

? « 22: 20: 25

3 % 20: 22: 24



4. % 18: 21: 23

Question Number : 95 Question Id : 9983678141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofy Bae & 3 & F 3 F g F 10% 3o § 3 G i ama gy o amr #r geer
20% A g, fFae, &vs iR 9ww Fr 3w wAe A s 7 e

Options:

1. » AlsA5s 17

P« 22:20: 25

Question Number : 96 Question Id : 9983678142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If two numbers are 30% and 50% of a number, what percent is the first number of the second number?

Options:

1. =

L]
h
=)
=1

2. % 40%

L
L
=]
=}

3. %

4. v 60%

Question Number : 96 Question Id : 9983678142 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
ofE ar FEae e v e B 30% 3R 50% §, O TEelh wemr gud wewr # frae it 27

Options:

1. % 35%
2« 40%
3. = 55%
4. v 60%

Question Number : 97 Question Id : 9983678143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mukesh spends 80% of his income. His income is increased by 20% and his expenditure is also increased by 15%. What
is the percentage increase/decrease in his savings?

Options:

1. = 20% increase

? « 40% increase

3. % 10% decrease

4. % 25% decrease

Question Number : 97 Question Id : 9983678143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR AT I & 80% TE T T &1 3T W H 20% Fr I @ S § 3% w & 3w w o
15% §g ST &1 38 59q F gfaea ghy / w3 Baer 2

Options:



1 % 20%

5 o 40% &

3. % 10% FH

4. % 25% F

Question Number : 98 Question Id : 9983678144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If Nithin's salary is 25% more than Vinith’s, how much percent is Vinith's salary less than Nithin’s salary?

Options:
1. ¢ 20%

P % 25%

3 % 30%

Question Number : 98 Question Id : 9983678144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oy Afae = 397 5599 & 309 ¥ 256% 3% g, o g & 397 At F 399 ¥ g vfee
wH 32

Options:

1. v 20%




2 % 25%

3. % 30%

4. % 75%

Question Number : 99 Question Id : 9983678145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the average of the first ten prime numbers?
Options:
1. = 10

7 % 119

3. ¢ 129

4 = 13

Question Number : 99 Question Id : 9983678145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ugell g8 =T TEATHT &7 3gd 41 gEm?

Options:

1. = 10




3. v 129

Question Number : 100 Question Id : 9983678146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The present ages of Kavya and Veena are 18 years and 22 years respectively. What will the average of their ages be after
9 years?

Options:
1. = 20 years

7 % 26 years

3 x 28Yyears

4 v 29 years

Question Number : 100 Question Id : 9983678146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Frear AR AT H TAAH HG FAM 18 ¥ X 22 I T O I A1 AR HY F HAT FAT G2

Options:
1. = 20 @

2. = 26 Fd

3. = 28 HA



4. » 29 T

Arithmetic Ability?2
Group Number : 6
Group Id: 998367352
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability?2
Section Id : 998367358
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 998367512
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9983678147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Varun buys a fish tank for T 5,500. For how much should he sell it to a gain a profit of 62%?
Options:
1. «+ T 5830

7 % T 5858



3. % T 5925

A. = T 6000

Question Number : 101 Question Id : 9983678147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FT0T ¥ 5,500 H T fher & @lIedr g1 TG 98 §9 T 6% o FHAET dgdl g, ar Ie0T H U I

e Heg W = =g
Options:

1. v T5830

7. w I5858

3. = T5925

4. = <6000

Question Number : 102 Question Id : 9983678148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Raja buys 4 goats and 9 ducks for T 13.400. If he sells the goats at 10% profit and the ducks at 20% profit, then he earns
a total profit of T 1.880. What is the cost of the goats?

Options:
1. = T 1500

7« 2000

3. % T2500



A % T6650

Question Number : 102 Question Id : 9983678148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & T 13,400 H 4 soiym 3T 9 gogw @idh afg ag s=fEt & 10% amer v 3 st & 20%
T 9T =T §, A 38 FoT < 1,880 FT A1 oA AT g1 TR BN HAS hodetl g2

Options:

1. = T 1500
2.« T2000
3. = T2500
4. = T6650

Question Number : 103 Question Id : 9983678149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Gupta loses 15% by selling an article for ¥ 765. For how much should he sell the article to earn a profit of 15%?
Options:
1. = T 1000

7 % T 1250

3.« T 1035

A % T 1350

Question Number : 103 Question Id : 9983678149 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Tear fordr avg #1765 H 99T § AR W i H 37 15% F @l 2 g1 15% FT A FAW F A

3 TFg # [ HAT W T=4T grem?
Options:

1. % <1000

2« 1250

3 » 1035

4. = 1350

Question Number : 104 Question 1d : 9983678150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A trader lists the selling price of an article at 10% more than the purchasing price. He allows some discount and bears a
loss of 1%. What is the rate of discount?

Options:
1. v 10%

7 % 12%

A % 20%

Question Number : 104 Question Id : 9983678150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE ST R 3T # T 7ea 38 F9 750 ¥ 10% 30w O & 81 5% 39 9Fg W §T oe
& & AR T 1% F FHEe 33T §1 & TS T H & FT 87

Options:



1. ¢ 10%

2 % 12%
3. % 125%
4. % 20%

Question Number : 105 Question Id : 9983678151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

After giving a discount of 9% on the marked price of a certain medicine at a pharmacy, its gain is 30%. The marked
price of the medicine on which the gain is ¥ 42, will be:

Options:

1. = T 120

7 % T 150

3 % T 180

A » T200

Question Number : 105 Question Id : 9983678151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AT P g, Uk AT a1 F Al How W 9% F ge & F a1, gHhT Tk 9T 30% & e
FAET &1 TR g3 R e e ot 742 § A s HiET T g

Options:

1. = 120



2 % T150

3. % T180

4. v T200

Question Number : 106 Question Id : 9983678152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kumar borrowed a sum of T 20,000 at 12% per annum from Narayan on 13 January 2015, and returned the money on 8
June 2015 to clear the debt. What was the amount paid by Kumar?

Options:
1. = 20280

9 & 20,960

3 % T21.980

4. = 22,100

Question Number : 106 Question Id : 9983678152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FAN & 13 FFad 2015 & ARE0T § 12% Wiy $F == &7 W T20,000 #r TR 3uR o 3R 8 =7
2015 & T FAF I9F Fer & FAR A frae AR F opEae e

Options:

1 20,280

2 » 20,960



3 x 21,980

4.« 22,100

Question Number : 107 Question Id : 9983678153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money doubles itself in 8 years at simple interest. What is the rate of interest?
Options:
1. = 10%

1
2 v 125%

'141':5"
7 %

3. %

A = 16%

Question Number : 107 Question Id : 9983678153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TR ATUROT &A1 X 8 a1 & A URY FT GRET &7 AT g1 AT & T 0T HY?

Options:

1. % 10%



4. % 16%

Question Number : 108 Question Id : 9983678154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of ¥ 8,320 is lent out in 2 parts in such a way that the interest on one part at 10% for 5 years is equal to that on
the other part at 9% for 6 years. The sum lent out at 9% is:

Options:
1. ¢ T 4000

7 % T4320

3 % T4300

A = T 5000

Question Number : 108 Question Id : 9983678154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T30 F UM T ¥ 9T H =0 WX ¥ 3R fEar Aar & & 28F UF 6T 97 10% Frgr ¥ 5 av
FT ST gAY AT R 9% H 3T F 6 99 & =TS & I 2EM 9% FT T W 3UR & 718 Ry H
IAUTAT FI|

Options:

1. « 4,000
2 x T4,320
3. = T4,300

4. » 5,000



Question Number : 109 Question Id : 9983678155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Dilip borrows a certain sum of money from a money lender at the rate of 15% per annum at compound interest, interest
being compounded annually and agrees to return it on two equal yearly installments of ¥ 1,200 each. Find the sum
borrowed.:

Options:
1. % T 194585

7« T 195085

3. % T1990.25

A = T2000

Question Number : 109 Question Id : 9983678155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feeia v W & 156% Fioad 1 T ¥ Twgfe =0 W o Afvas of¥r sur e § 5w w e
BT S15T AT g, R 98 3§ TR F T 1,200 Fr & qwa e hedl W gEe & 7w ggaa g
£l 3UR o 71z TRy A T FL

Options:

1. = T1945.85

2. v T1950.85

3. % ¥1990.25

4. % 2000

Question Number : 110 Question Id : 9983678156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What is the compound interest on < 6,250 at 4% per annum compounded annually for 3 years?
Options:
1. = 75050

7 % T 760

3.« T780.40

A % T790.25

Question Number : 110 Question Id : 9983678156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

76,250 @ Tfg 9fa 9§ 4% #r =aT=T ST 9T FeT HTAT AT FST AT, 3 AT & fov TR Gar
S E, A $H W F A Twgfs s sem?

Options:
1. = ¥750.50
2 % T 760

3. v ¥780.40

4. % ¥790.25

Question Number : 111 Question Id : 9983678157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A cubical vessel contains 8 litres of water. Find the total surface area of the vessel.
Options:

1. = 1950 cm?



7 % 2000 cm?
3 % 2200cm?

4. « 2400 cm?

Question Number : 111 Question Id : 9983678157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS TAT 9T H 8 WX T §1 AF F Feol TEOIT SIS F A0A FH

Options:

1. = 1950 cm?

2 % 2000 cm?

3. % 2200 cm?

4. « 2400 cm?

Question Number : 112 Question 1d : 9983678158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The size of a wooden block is 5 cm * 9 em > 25 cm. How many whole such blocks will be required to construct a solid
wooden cube of minimum possible size?

Options:
1.« 3

2.% 6



Question Number : 112 Question Id : 9983678158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS THEN & sl H HHR 5 cm x 9 cm x 25 cm ¥l 3H FRSI F Udh +¥AdH FHT HHR & o Bl
T & T 0F fFas R wee aener?

Options:

1. v 3

? x 6

Question Number : 113 Question Id : 9983678159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If each side of a square is increased by 20%, find the percentage change in its area.

Options:
1. % 39%
7w 40%

3. % 42%



4. v 4%

Question Number : 113 Question Id : 9983678159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afE FRT 1 T 94F g A 20% H FE H 1 2, A 36 &% J Fiaud IREaT A w

Options:

1 % 39%
2 % 40%
3w 42%
4. v 44%

Question Number : 114 Question Id : 9983678160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A can complete a piece of work in 10 days, whereas A and B together can complete the same work in 8 days. How long
will it take for B alone to complete the work?

Options:
1. = 30days

2 % 35days

3  40days

], = 42days

Question Number : 114 Question 1d : 9983678160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A T Fa FT 10 RAT F [ X TFhaT 8, F A 3R B T Ty Berex 3@ w w8 At A
F Thd g1 B FT 3R 3 FH & I F F o gET wEem?

Options:

1. = 30 fe=

2. . 3 fm

3. v 40 R&

4 = 42 &=

Question Number : 115 Question Id : 9983678161 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

X and Y can complete a piece of work in 12 days, Y and Z can complete it in 15 days and Z and X can complete it in 10
days. In how many days will all three of them complete it together?

Options:

1. =

o

Question Number : 115 Question Id : 9983678161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

XY EFAHREA T T RIFIE, YIRZT 15 F F wa g ¢ d# 2 A X
5T 10 & & @ X Faa &1 T A= Fee 58 o G # U R e

Options:



Question Number : 116 Question Id : 9983678162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If Ram walks 8 km in 4 hours, the time taken by him in travelling a distance of 32 km will be
Options:

1. %= 12 hours

? s 15 hours

3.« 16 hours

4. % 18 hours

Question Number : 116 Question Id : 9983678162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofg TH 4 9C H 8 km T §, A 37 32 km F gl FT FA A &1 AT I
Options:

1. = 12 g9



2 % 15 ©X

3. v 16 °C

A = 18 T

Question Number : 117 Question 1d : 9983678163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a bus runs at 40 km per hour, it reaches its destination late by 11 minutes. If it runs at 50 km per hour, it is late by 5
minutes only. What is the correct time for the bus to complete its journey?

Options:

1. % 17 minutes

7« 19 minutes

3. % 20 minutes

4 % 25 minutes

Question Number : 117 Question Id : 9983678163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT S FF 40 kmph #Fr AR F TN g, A T 39 aed W 11 Bae ¥ § og=eh 31 7R 7w 50
kmph #r TFaR & I g, a7 38 Faa 5 Fae & i g §1 77 @ 39 o off # F aeaa A
raar @ag e Em?

Options:

1. = 17 @Bae

2 v 19 @=e



3 = 20 @=e

A = 25 @ac

Question Number : 118 Question Id : 9983678164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Anitha and Punitha start together to walk to a certain destination, Anitha walks at 3 km per hour and Punitha walks at
3.75 km per hour. Punitha arrives half an hour before Anitha. The distance is:

Options:
1. «v 7.5km

? % 8Skm

3 % 95km

4 % 10km

Question Number : 118 Question Id : 9983678164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

year 3R e e BT aoer 9% S F T T @y 9o oF #Rar &, 30T 3 kmph @
TR @ Torc ¢ A gAar 3.75 kmph #F TR ® o g gﬁmm%mmm@m
g1 g # AU A

Options:
1. v 7.5 km
2 % 8 km

3. % 9.5 km



4. % 10 km

Question Number : 119 Question Id : 9983678165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Read the following information carefully and answer the questions given below:
Assume all colleges sent an equal number of students in all subjects for the examination.

Percentage of results for subjects

College | English | Maths | Physics | Accounts
P 52 65 62 47
Q 47 62 52 35
R 53 70 46 54
S L o) 72 58 62
Taking the performance in all the subjects into account, which college has shown the lowest level?
Options:
1. = P
2. v Q
3 = R
4. % S

Question Number : 119 Question Id : 9983678165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArafaf@a FwNT # eod ¥ 9¢ 3T A9 U 910 9979 & 3R &
AT AfeT & T Fo= ¥ g el § 987 g3 § oEr 7 fgear o

asfr Tt @1 gfdea 9o
3 52 65 62 47
Q 47 62 52 35
R 53 70 46 54
& 35 72 58 62
T fawat ¥ gesla &+ oo & gT ol ST T T FlorsT o7 9eIT Tew BT @ 87

Options:

1. = P
2. v Q
3. = R

Question Number : 120 Question Id : 9983678166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Read the following information carefully and answer the questions given below:
Assume all colleges sent an equal number of students in all subjects for the examination.

Percentage of results for subjects

College | English | Maths | Physics | Accounts
P 52 65 62 47
Q 47 62 52 35
R 53 70 46 54
S 35 72 58 62

Taking all the colleges into account, which subject has shown the highest percentage result?

Options:



1. % Physics

2 English

3. % Accounts

4.« Maths

Question Number : 120 Question Id : 9983678166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=@ =l & coa O 92 3 & T 9w geF & 3w &
AT AT & T@efr Fro=l @ g3 Rudt & o837 g & oEr o fgear o

T At & gicea 9foma

P 52 65 62 47

Q 47 62 a2 30

R 5 70 46 54

= a0 72 58 62
TeiT Flor=l & 0T H AT Fa gq 3==ad gfarerd IonH @ I TvT i ar 22
Options:
1. » #ifos e
Dy IS
3. % ol@he

4. » 7O



General Englishi

Group Number : 7
Group Id: 998367353
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
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General Englishil

Section Id : 998367359

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20
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Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367513
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9983678167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best gives the meaning of the
underlined words/phrase.

When pigs {ly, Priti will start studying every day.

Options:

1. = When pigs will start flying

2. * Something that always happen
3. v Something that will never happen
4. = Something that is very easy to do



Question Number : 121 Question 1d : 9983678167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best gives the meaning of the

underlined words/phrase.

When pigs fly, Pnti will start studying every day.

Options:

1. = When pigs will start flying

2. » Something that always happen
3. v Something that will never happen

4, = Something that I1s very easy to do

Question Number : 122 Question Id : 9983678168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the idioms in the options means the same as the
following?

To do something too soon without proper thought

Options:

1. = Make hay while the sun shines
2. v Jump the gun

3. = Stick to your guns

4. = A stitch in time saves nine

Question Number : 122 Question Id : 9983678168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the idioms in the options means the same as the

following?

To do something too soon without proper thought

Options:

1. » Make hay while the sun shines
2. v Jump the gun
3. = Stick to your guns

4. = A stitch In time saves nine

Question Number : 123 Question Id : 9983678169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for
the given group of words.

A person who is controlled by his wife.

Options:

1. v Henpecked
2. = Henlicked

3. » Hencooped
4. = Henchman

Question Number : 123 Question Id : 9983678169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute

for the given group of words.

A person who Is controlled by his wife.

Options:



1. v Henpecked
2. = Henlicked
3. * Hencooped
4. = Henchman

Question Number : 124 Question Id : 9983678170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options means the same as the idiom
highlighted in the below sentence?

Although he has been trained for months, yet he puts the
cart before the horse.

Options:

1. * He rides the horse backwards.

2. = He prefers the cart over the horse.
3. » He is afraid of the horse.

4. v He does things in the reverse order.

Question Number : 124 Question Id : 9983678170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options means the same as the

idiom highlighted in the below sentence?

Although he has been trained for months, yet he puts the

cart before the horse.

Options:

1. = He rides the horse backwards.

2. » He prefers the cart over the horse.



3. = He 1s afraid of the horse.

4. v He does things In the reverse order.

Question Number : 125 Question Id : 9983678171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

ORACULAR

Options:

1. = livid
2. » Jucid
3. = distinct
4. v cryplic

Question Number : 125 Question 1d : 9983678171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

ORACULAR

Options:

1. = livid
2. = lucid
3. # distinct
4. v cryptic

Question Number : 126 Question Id : 9983678172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the highlighted word.

The lost wallet was restored to the owner.

Options:



1. v Returned
2. » United
3. = Shown
4. = Donated

Question Number : 126 Question Id : 9983678172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the highlighted word.

The lost wallet was restored to the owner.

Options:

1. v Returned
2. » United
3. * Shown
4. = Donated

Question Number : 127 Question Id : 9983678173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for
the given group of words.

A cure for all diseases.

Options:

1. = Eternal
2. v Panacea
3. = Germicide
4. = Forgery

Question Number : 127 Question Id : 9983678173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that can be used as a one-word substitute

for the given group of words.

A cure for all diseases.

Options:

1. = Eternal

2. v Panacea
3. # Germicide
4. = Forgery

Question Number : 128 Question Id : 9983678174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Transform the following sentence without changing its
meaning:

Nilesh was too God-fearing to leave the fallen man to his fate.

Options:

1. = Nilesh was so God-fearing that he left the fallen man to
his fate.

2. v Nilesh was so God-fearing that he couldn’t leave the
fallen man to his fate.

3. » Nilesh was less God-fearing and left the fallen man to his
fate.

4. = Nilesh 1s God-fearing enough and left the fallen man to
his fate.

Question Number : 128 Question Id : 9983678174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Transform the following sentence without changing its

meaning:

Nilesh was too God-fearing to leave the fallen man to his

fate.

Options:

1. = Nilesh was so God-fearing that he left the fallen man

to his fate.

2. v Nilesh was so God-fearing that he couldn’t leave the

fallen man to his fate.

3. = Nilesh was less God-fearing and left the fallen man to

his fate.

4. = Nilesh 1s God-fearing enough and left the fallen man to

his fate.

Question Number : 129 Question Id : 9983678175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options is INCORRECT?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. You cannot live peacefully if you are contented.

2. You can live peacefully unless you are contented.

3. You cannot live peacefully unless you are contented.
4. You must live peacefully unless you are contented.

Question Number : 129 Question Id : 9983678175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options 1s INCORRECT?



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. You cannot live peacefully If you are contented.
2. You can live peacefully unless you are contented.
3. You cannot live peacefully unless you are contented.

4. You must live peacefully unless you are contented.

Question Number : 130 Question Id : 9983678176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Fill in the blanks with the most appropriate articles.

Simon 13 European, but his wife is Indonesian.

Options:

1. = the, an
2. % q,the
3. = an, the
4 v a,an

Question Number : 130 Question Id : 9983678176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate articles.

Simon Is European, but his wife Is Indonesian.

Options:

1. = the, an
2. = a, the
3. = an, the

4. v a, an



Question Number : 131 Question Id : 9983678177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

the weather was cold, we decided not to wear our

woollen clothing.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. Because
2. Owing

3. Since

4. As long as

Question Number : 131 Question Id : 9983678177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

the weather was cold, we decided not to wear our

woollen clothing.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Because
2. Owing
3. Since

4. As long as

Question Number : 132 Question Id : 9983678178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following sentence has been divided into four parts.
Select the part that contains an error.

Set against the Bay of Bengal, / eastern states like West Bengal
and Odisha / are homes to a largely humid climate, / epic
rainfalls, rivers and lakes.

Options:

1. = Set against the Bay of Bengal

2. = eastern states like West Bengal and Odisha
3. v are homes to a largely humid climate

4. = epic rainfalls, rivers and lakes

Question Number : 132 Question Id : 9983678178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into four parts.

Select the part that contains an error.

Set against the Bay of Bengal, / eastern states like West
Bengal and Odisha / are homes to a largely humid climate,

/ epic rainfalls, rivers and lakes.

Options:

1. » Set against the Bay of Bengal

2. = eastern states like West Bengal and Odisha
3. v are homes to a largely humid climate
4, =

epic rainfalls, rivers and lakes

Question Number : 133 Question Id : 9983678179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following sentence has been divided into four parts.
Select the part that contains an error.

The conversation with Seemas / mother had a more profound
/ effect on her / than she expected.

Options:

1. v+ The conversation with Seemas
2. » mother had a more profound
3. » effect on her

4. = than she expected

Question Number : 133 Question 1d : 9983678179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into four parts.

Select the part that contains an error.

The conversation with Seemas / mother had a more

profound f effect on her / than she expected.

Options:

1. v The conversation with Seemas
2. = mother had a more profound
3. & effect on her

4. = than she expected

Question Number : 134 Question Id : 9983678180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate pronoun.

I hate sleeping too much.

Options:



1. = him

2. ¢ his

3. = Its

4. = himself

Question Number : 134 Question Id : 9983678180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate pronoun.

| hate sleeping too much.

Options:

1. = him
2. v his
3. % |ts

4. = himself

Question Number : 135 Question Id : 9983678181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Neena: Has the chief guest arrived?
Simmi: She be here any moment.

Options:

1. = must
2. v should
3. % can

4. = may

Question Number : 135 Question Id : 9983678181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

Neena: Has the chief guest arrived?

Simmi: She be here any moment.

Options:

1. = must
2. v should
3. # can
4. = may

Question Number : 136 Question Id : 9983678182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Parts of a sentence are given below in jumbled order. Arrange
the parts in the right order to form a meaningful sentence.

1) and was always in a bad mood

2)  unfortunate person and the whole village was tired
3)  Rakesh who lived in the village was one of the most
4)  of him because he was always gloomy

Options:

1. % 3,4,2,1
2.v3,2,4,1
3.#1,3,4,2
4. % 2,4,1,3

Question Number : 136 Question Id : 9983678182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Parts of a sentence are given below In jumbled order.
Arrange the parts in the right order to form a meaningful

sentence.

1) and was always In a bad mood
2) unfortunate person and the whole village was tired
3) Rakesh who lived in the village was one of the most

4) of him because he was always gloomy

Options:

1. = 3, 4, 2, 1
2. v 3, 2,4, 1
3. = 1,3, 4, 2
4. = 2,4, 1, 3

Question Number : 137 Question Id : 9983678183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correctly spelt word.

Options:

1. * unnumerable
2. » Inumerable

3. v innumerable
4. = iInnumarable

Question Number : 137 Question Id : 9983678183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correctly spelt word.

Options:

1. = unnumerable



2. % Inumerable
3. ¢ Innumerable

4. = |nnumarable

Question Number : 138 Question Id : 9983678184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Into three parts. One of them may contain an error. Select the
part that contains the error from the given options. If you don’
t find any error, mark ‘No error’ as your answer.

They kept us / waiting / since half an hour.

Options:

1. = They kept us

2. » waliting

3. v since half an hour
4. = NO error

Question Number : 138 Question Id : 9983678184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Into three parts. One of them may contain an error. Select
the part that contains the error from the given options. If

you don’t find any error, mark ‘No error’ as your answer.

They kept us / waiting / since half an hour.

Options:

1. = They kept us
2. % walting

3. ¢ since half an hour



4. = No error

Question Number : 139 Question Id : 9983678185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the correctly formed sentence from among the given
options.

Options:

1. = The world’s earliest known printed book, shows the
widespread availability and practicality of paper in China
using woodblock printing, the Diamond Sutra.

2. = The world’s earliest woodblock printing, the Diamond
Sutra printed book, shows the widespread availability and
practicality of paper in China.

3. = Using woodblock printing, paper in China the Diamond

Sutra of the world’s earliest known printed book, shows the
widespread availability and practicality.

4. v The world’s earliest known printed book (using
woodblock printing), the Diamond Sutra, shows the
widespread availability and practicality of paper in China.

Question Number : 139 Question Id : 9983678185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correctly formed sentence from among the given

options.

Options:

1. = The world’s earliest known printed book, shows the
widespread avallability and practicality of paper in China

using woodblock printing, the Diamond Sutra.



2. = The world’s earliest woodblock printing, the Diamond
Sutra printed book, shows the widespread availability and

practicality of paper in China.
3. = Using woodblock printing, paper in China the Diamond

Sutra of the world’s earliest known printed book, shows the

widespread avallability and practicality.

4. v The world’s earliest known printed book (using
woodblock printing), the Diamond Sutra, shows the

widespread avallability and practicality of paper in China.

Question Number : 140 Question Id : 9983678186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the highlighted word.

The news of Ashish’s failure in the board examination caused
depression in the family.

Options:

1. » surge

2. = convexity

3. v gloominess

4. = protuberance

Question Number : 140 Question Id : 9983678186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the highlighted word.

The news of Ashish’s failure Iin the board examination

caused depression In the family.

Options:



1. = surge
. ® convexity

v gloominess

AW N

. % protuberance

General English?
Group Number : 8
Group Id: 998367354
Group Maximum Duration : 0
Group Minimum Duration : 0
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Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English?2

Section Id : 998367360

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367514
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9983678187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word:

SALUTARY

Options:



1. = curative

2. » wholesome
3. v unhealthy
4. = healthy

Question Number : 141 Question Id : 9983678187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word:

SALUTARY

Options:

1. = curative

2. » wholesome
3. v unhealthy
4. = healthy

Question Number : 142 Question Id : 9983678188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the correct form of the tense.

The accused the verdict of the jury with anxiety.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. awaits

2. awaited

3. will awaits

4. will been awaiting

Question Number : 142 Question Id : 9983678188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the correct form of the tense.

The accused the verdict of the jury with anxiety.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. awalts

2. awaited

3. will awaits

4. will been awaiting

Question Number : 143 Question Id : 9983678189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

The Mughal Emperor was deeply moved when he saw
dead and wounded on battlefield.

Options:

1. = a; a; the

2. v the; the; the

3. *» no word required; the; a
4. = the; the; no word required

Question Number : 143 Question Id : 9983678189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Fill in the blank with the most appropriate option.

The Mughal Emperor was deeply moved when he saw

dead and wounded on battlefield.

Options:



1. = a; a; the

2. v the; the; the

3. * no word required; the; a
4. = the; the; no word required

Question Number : 144 Question Id : 9983678190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the one-word substitute that can replace the
underlined word without changing the meaning of the
sentence.

We should not allow our kids to watch movies with profane
references.

Options:

1. = Moral

2. v Obscene
3. » Religious
4, = Reverent

Question Number : 144 Question Id : 9983678190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the one-word substitute that can replace the
underlined word without changing the meaning of the

sentence.

We should not allow our kids to watch movies with profane

references.

Options:

1. = Moral



2. v Obscene
3. = Religious
4. = Reverent

Question Number : 145 Question Id : 9983678191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

During the ancient times, the tribal people often made human
sacrifices to appease their Gods.

Options:

1. v Deities

2. » {onquerors
3. » Heroes

4. = Monarchs

Question Number : 145 Question Id : 9983678191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

During the ancient times, the tribal people often made

human sacrifices to appease their Gods.

Options:

1. v Deilties
2. » Conquerors
3. # Heroes

4. = Monarchs

Question Number : 146 Question Id : 9983678192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the given word:

ENDORSE

Options:

1. = Advocate

2. v Disapprove
3. = Countenance
4. = Accredit

Question Number : 146 Question Id : 9983678192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word:

ENDORSE

Options:

1. = Advocate
2. v Disapprove

3. # Countenance

4. = Accredit

Question Number : 147 Question Id : 9983678193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word:

FEEBLE

Options:

1. = Enervated
2. % Frail
3. v Competent



4, = Langulid

Question Number : 147 Question Id : 9983678193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word:

FEEBLE

Options:

1. = Enervated
2. = Frall

3. v Competent
4, = Languid

Question Number : 148 Question 1d : 9983678194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined
word.

Most teenagers are criticised for their lax attitude.

Options:

1. v Concerned
2. » {Careless

3. = Flaccid

4. = Delinquent

Question Number : 148 Question 1d : 9983678194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the underlined

word.

Most teenagers are criticised for their |lax attitude.

Options:

1. v Concerned
2. = Careless
3. #= Flaccid

4. = Delinquent

Question Number : 149 Question Id : 9983678195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined
word.

It is absurd to believe that young children can run faster than
policemen.

Options:

1. » Incongruous
2. v Realistic

3. = Preposterous
4. = Ludicrous

Question Number : 149 Question Id : 9983678195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the underlined

word.

It 1Is absurd to believe that young children can run faster

than policemen.

Options:

1. = Incongruous
2. v Realistic
3. = Preposterous

4. = Ludicrous

Question Number : 150 Question Id : 9983678196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined
word.

They had a queer feeling that they were being followed.

Options:

1. = Weird
2. v Typical

3. = Irrational
4. = Bizarre

Question Number : 150 Question Id : 9983678196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the underlined

word.

They had a gueer feeling that they were being followed.

Options:

1. = Weird
2. v Typical
3. % |rrational

4. = Bizarre

Sub-Section Number: 2
Sub-Section Id: 998367515
Question Shuffling Allowed : Yes

Question Id : 9983678197 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the given passage and answer the questions that follow.

Marie was born in 1867 in Warsaw, Poland, where her father
was a Professor of Physics. At an early age, she displayed a
brilliant mind and a blithe personality. Her great exuberance
for learning prompted her to continue with her studies after
high school. She became disgruntled, however, when she
learned that the university in Warsaw was closed to women.
Determined to receive a higher education, she defiantly left
Poland and in 1891 entered the Sorbonne, a French
university, where she earned her master’s degree and
doctorate in physics.

Marie was fortunate to have studied at the Sorbonne with
some of the greatest scientists of her day, one of whom was
Pierre Curie. Marie and Pierre were married in 1895 and
spent many productive years working together in the physics
laboratory. A short time after they discovered radium, Pierre
was killed by a horse-drawn wagon in 1906. Marie was
stunned by this horrible misfortune and endured
heart-breaking anguish. Despondently, she recalled their close
relationship and the joy that they had shared in scientific
research. The fact that she had two young daughters to raise
by herself greatly increased her distress.

Curie’s feeling of desolation finally began to fade when she
was asked to succeed her husband as a physics professor at
the Sorbonne. She was the first woman to be given a
professorship at the world-famous university. In 1911, she
received the Nobel Prize in chemistry for isolating radium.
Although Marie Curie eventually suffered a fatal illness from
her long exposure to radium, she never became disillusioned
about her work. Regardless of the consequences, she had
dedicated herself to science and to revealing the mysteries of
the physical world.



Sub questions

Question Number : 151 Question Id : 9983678198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following options is NOT true about Marie
according to the passage?

Options:

1. = She received the Nobel Prize.

2. = She was the first woman to be appointed as a professor at
a world-famous university.

3. = She was born in Poland.
4. v She was Killed by a horse-drawn wagon.

Question Number : 152 Question 1d : 9983678199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage why did Marie’s distress increase?

Options:

1. = Because her husband was killed.

2. v Because she had two daughters to lock after all by herself.
3. = Because she suffered from a fatal disease.

4. = Because she learned that the university in Warsaw was
closed to women.

Question Number : 153 Question Id : 9983678200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

EXUBERANCE

Options:

1. v exhilaration
2. = coolness

3. = apathy

4. = lethargy



Question Number : 154 Question 1d : 9983678201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

DISGRUNTLED

Options:

1. = annoyed
2. = 1rritated
3. = vexed

4. v contented

Question Number : 155 Question Id : 9983678202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options can replace the highlighted
word in the given sentence?

Although Marie Curie eventually suffered a fatal illness from
her long exposure to radium, she never became disillusioned
about her work.

Options:

1. = Contended

2. v Disenchanted
3. = Enchanted

4. » Satisfied

Question Id : 9983678197 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the given passage and answer the questions that

follow.

Marie was born in 1867 in Warsaw, Poland, where her
father was a Professor of Physics. At an early age, she
displayed a brilliant mind and a blithe personality. Her great
exuberance for learning prompted her to continue with her
studies after high school. She became disgruntled, however,
when she learned that the university in Warsaw was closed
to women. Determined to receive a higher education, she
defiantly left Poland and in 1891 entered the Sorbonne, a
French university, where she earned her master's degree

and doctorate in physics.

Marie was fortunate to have studied at the Sorbonne with
some of the greatest scientists of her day, one of whom
was Pierre Curie. Marie and Pierre were married in 1895
and spent many productive years working together in the
physics laboratory. A short time after they discovered
radium, Pierre was killed by a horse-drawn wagon in 1906.
Marie was stunned by this horrible misfortune and endured
heart-breaking anguish. Despondently, she recalled their
close relationship and the joy that they had shared in
scientific research. The fact that she had two young

daughters to raise by herself greatly increased her distress.

Curie's feeling of desolation finally began to fade when she
was asked to succeed her husband as a physics professor
at the Sorbonne. She was the first woman to be given a
professorship at the world-famous university. In 1911, she
received the Nobel Prize in chemistry for isolating radium.
Although Marie Curie eventually suffered a fatal illness from
her long exposure to radium, she never became
disillusioned about her work. Regardless of the
consequences, she had dedicated herself to science and to

revealing the mysteries of the physical world.



Sub questions

Question Number : 151 Question Id : 9983678198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following options 1s NOT true about Marie

according to the passage?

Options:

1. = She received the Nobel Prize.

2. » She was the first woman to be appointed as a

professor at a world-famous university.
3. = She was born in Poland.

4. v She was killed by a horse-drawn wagon.

Question Number : 152 Question Id : 9983678199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage why did Marie’s distress Increase?

Options:

1. = Because her husband was killed.

2. v Because she had two daughters to look after all by

herself.
3. *= Because she suffered from a fatal disease.

4. = Because she learned that the university in Warsaw

was closed to women.

Question Number : 153 Question Id : 9983678200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

EXUBERANCE

Options:



1. v exhilaration
2. = coolness
3. = apathy

4. = |ethargy

Question Number : 154 Question Id : 9983678201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

DISGRUNTLED

Options:

1. = annoyed
2. % |rritated
3. = vexed

4. v contented

Question Number : 155 Question Id : 9983678202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options can replace the highlighted

word In the given sentence?

Although Marie Curie eventually suffered a fatal illness from
her long exposure to radium, she never became

disillusioned about her work.

Options:

1. = Contended

2. v Disenchanted



3. = Enchanted
4. = Satisfied

Sub-Section Number: 3
Sub-Section 1d: 998367516
Question Shuffling Allowed : Yes

Question Id : 9983678203 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the given passage and answer the questions that follow.
Of the forces that can best overcome all difficulties, love is the
most potent force because the greatest law of God is love,
which holds the key to all problems.

This mighty force not only enables you to put the ideal of
selfless service into practice, but also transforms one into God.
It has been possible through love for man to become God; and
when God becomes man, it 1s also due to His Love for us.
Love is dynamic in action and contagious in effect. Pure love
1s matchless in majesty; it has no parallel in power and there
i1s no darkness it cannot dispel.

It is the undying flame that has set life aglow. Our
emancipation depends upon our love for God and upon God’s
love for us. Where there 1s love, there 1s Oneness and, in
complete Oneness, the Infinite is realised completely in every
sphere of life, be it science, art or religion.

To those whose hearts are pure and simple, true love comes
as a gift through the activating grace of a Perfect Master, and
this Divine Love will perform the supreme miracle of
bringing God into the hearts of men.

To realise God, we must love Him, losing ourselves in His
Infinite Self. We can love God by surrendering to the Perfect
Master who is God’s personal manifestation.

The beginning of real love is obedience, and the highest aspect
of this love that surpasses love itself is the aspect that
culminates into the perfect obedience or supreme resignation
to the Will and Wish of the Beloved. In this love are embodied
all Yogas known to saints and seekers.

Sub questions



Question Number : 156 Question Id : 9983678204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage which of the following is the greatest
law that holds the key to all problems?

Options:

1. v Love

2. = God

3. » Religion
4. = Faith

Question Number : 157 Question Id : 9983678205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage which of the following is NOT a
feature of true love?

Options:

1. = It has no parallel in power.

2. = It can dispel all darkness.

3. v It has limits.

4. = It is the undying flame that sets life aglow.

Question Number : 158 Question Id : 9983678206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Love is dynamic in action and contagious in effect.”

Which of the following words has the OPPOSITE meaning as
the highlighted word?

Options:

1. » Transmittable

2. v Non communicable
3. = Pestilent

4. = Catching

Question Number : 159 Question Id : 9983678207 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

According to the passage what is considered as a supreme
miracle?

Options:

1. = Divine love

2. v Bringing God into the hearts of men
3. = Complete oneness

4. = Obedlence

Question Number : 160 Question Id : 9983678208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the meaning of the word ‘emancipation’ in the
passage?

Options:

1. = Hold

2. » Restraint
3. v Liberation
4. » Servitude

Question Id : 9983678203 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the given passage and answer the questions that
follow.

Of the forces that can best overcome all difficulties, love Is
the most potent force because the greatest law of God is
love, which holds the key to all problems.

This mighty force not only enables you to put the ideal of
selfless service into practice, but also transforms one into
God. It has been possible through love for man to become
God; and when God becomes man, It i1s also due to His
Love for us.

Love is dynamic in action and contagious in effect. Pure
love i1s matchless in majesty; it has no parallel in power
and there i1s no darkness it cannot dispel.

It is the undying flame that has set life aglow. Our
emancipation depends upon our love for God and upon God’
s love for us. Where there is love, there is Oneness and, In
complete Oneness, the Infinite i1s realised completely in
every sphere of life, be it science, art or religion.

To those whose hearts are pure and simple, true love
comes as a gift through the activating grace of a Perfect
Master, and this Divine Love will perform the supreme
miracle of bringing God into the hearts of men.

To realise God, we must love Him, losing ourselves in His
Infinite Self. We can love God by surrendering to the
Perfect Master who 1s God’s personal manifestation.

The beginning of real love is obedience, and the highest
aspect of this love that surpasses love itself is the aspect
that culminates into the perfect obedience or supreme
resignation to the Will and Wish of the Beloved. In this love

are embodied all Yogas known to saints and seekers.



Sub questions

Question Number : 156 Question Id : 9983678204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage which of the following I1s the

greatest law that holds the key to all problems?

Options:

1. v Love
2. = God
3. = Religion
4. = Faith

Question Number : 157 Question Id : 9983678205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage which of the following 1s NOT a

feature of true love?

Options:

1. = It has no parallel in power.
2. # |t can dispel all darkness.
3. v It has limits.

4, = [t 1s the undying flame that sets life aglow.

Question Number : 158 Question Id : 9983678206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Love 1s dynamic In action and contagious in effect.”

Which of the following words has the OPPOSITE meaning
as the highlighted word?

Options:

1. = Transmittable



2. v Non communicable
3. = Pestilent
4, = Catching

Question Number : 159 Question Id : 9983678207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage what I1s considered as a supreme

miracle?

Options:

1. = Divine love
2. v Bringing God into the hearts of men

3. = Complete oneness

4. = Obedience

Question Number : 160 Question 1d : 9983678208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What I1s the meaning of the word ‘emancipation’ in the

passage”
Options:

1. = Hold
2. = Restraint
3. v Liberation

4. = Servitude

General Hindil

Group Number : 9
Group Id: 998367355
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindil

Section Id : 998367361

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367517
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9983678209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THATel G # 9 Tehd re(E ehi ad=T MY 82

Options:

1. * MR

2. % IMTHRR
3. v AR

-,

4. » THGPR

Question Number : 161 Question Id : 9983678209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

farafef@d A @ Tore erse i acelr 3mrg &7

Options:

1. = MIASRIT
2. % AT
3. v cATgh



4. = THEFR

Question Number : 162 Question Id : 9983678210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ATl # 4 Tehd e, el ad=iT g 87?

Options:

1. % Pleiterg
2. v qITRet
3. * ygqdt

4, * AT

Question Number : 162 Question Id : 9983678210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@a & & fohg orse 1 ade Ug 87

Options:

1. % SHTelEIT
2. v HPNTAT
3. = IJETAT

4. % FoTHTNT

Question Number : 163 Question 1d : 9983678211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I T AEE, Y et DT I g7

Options:

1. % JMUCATIET
2. % UG
3. * SMUqATT
4, v AYIILAT

-,

Question Number : 163 Question 1d : 9983678211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fle T A5 G Tdall HT IRATF &7

Options:




* 3T
x O
NG

v 3YcIEd

Question Number : 164 Question Id : 9983678212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST SIS H el T GHTE 87

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

ol

Question Number : 164 Question Id : 9983678212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'STITeAT2 eI H hisT TT THT &7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1.a§3ﬁ%
2. qege
3. AU
4, egATHTT

Question Number : 165 Question Id : 9983678213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DI & SIS, TH 5?

Options:

1. » TTgeh, THST, DIFel, DY




2. % Gags, gra, s, &
Ty

3. v DIYSH, Th, THT, AT

4. * TN, STCe, H6IT, oTeill

Question Number : 165 Question Id : 9983678213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FleT & e6c dcdH &7

Options:

1. » JMMgeh, TAST, FIA, FYd
2. » aUs, e, rars, hare

3. v FISch, Toh, ITHA, THET

4. = WE, STe, HAGol, oIgdl

Question Number : 166 Question Id : 9983678214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THATel T # oI 9T el T SIvur &7 g2

Options:

1. = 37U, Pe[UT, TY

2. % TP, TYET, Telheld
3. * Gy, M=, TR

4. v IqPYE, 3ied, ML

Question Number : 166 Question Id : 9983678214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToiafelET # shiel @1 Td1 TeIvom 1 §7?

Options:

1. % 3T08TT, Fedelr, =]

2. » 30T, FEET, Taehed
3. » e, [oaoT, TR
4. v 3cFe, 3e[ied, 3EaT




Question Number : 167 Question Id : 9983678215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR e Tehd T T Terdrgur g2

Options:
1. * AT D
2. * JeUdlddh

3. v Ul

4. = FhddTd

Question Number : 167 Question Id : 9983678215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'HTRTeNT eTee, TohT TR hT Taeiyor &7

Options:

1. = QATUERS

2. L_gbﬁlqm«vh

3. v J0TdI<I<h
s

4. = Hehddr<eh

Question Number : 168 Question Id : 9983678216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BLGIEIEEE SIIREICE R E UG ECTAFS IS F

Options:

1. v TgHTerg

Question Number : 168 Question Id : 9983678216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT @&a A Sfaaraess AT T 3IEI0T dal &

Options:

1. v &A™




Question Number : 169 Question Id : 9983678217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"’ U Th g T AT FelATH 57

Options:

1. * THsTamad
2. v [EYATRI®
3. * Y[R
4. » GIYATAD

Question Number : 169 Question Id : 9983678217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'TA e fohT TR T AGATH &7

Options:

1. = TaA<Ta=IF

2. ¢ FAREIEES
3. % TeddId<sh
4. = EIITIR

Question Number : 170 Question Id : 9983678218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T SE, T TellT HE g7

Options:

1. * I9ATAT
2. v ATl
3. * Qoo
4. % qYHD Tol 1T

Question Number : 170 Question Id : 9983678218 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

TR ereq; hT TolaT 3ie &7

Options:

1. = 337gTeldT
2. v EAITeldT
3. = gfeddr
4. = AqHF forar

Question Number : 171 Question Id : 9983678219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I ET e, TN e 57

Options:

1. » SefsT

2. % Hidiex
3. v BHICX
4. % Ta_T

Question Number : 171 Question Id : 9983678219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i T 2eg TR o™ &7

Options:

1. = STorel
2. = H9Idme
3. v SIGHK
4, = T

Question Number : 172 Question Id : 9983678220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HUAT U el g eTehd Pl ATI-UTead T g2

Options:

1. * HTerETd




2. % HHATIT

,

3. v ejarE
4. = TR arE

Question Number : 172 Question Id : 9983678220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'UelT U Tolgdr & g &l ad-a < 4T 87

Options:

1. = HGIT
2. = HHATY
3.&6@31?&
4. = HAfATeTd a3y

Question Number : 173 Question Id : 9983678221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'IRG' ereg g ThR & TORINOT T 3EEI0T &

Options:

1. = UNHATOTAIR

2. v 30TdIde<h
ot

3. * hddrdh

4. = HEAETIF

Question Number : 173 Question 1d : 9983678221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR e[ The TenTT & TerQIuur &l ISTgu g

Options:

1. = URATUETIR
2. v TUTATed

3. % Fhdarad

4, = YEITATID



Question Number : 174 Question Id : 9983678222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. * +Pe(U
2. * GHT+helT
3.« AT
4. v B

Question Number : 174 Question Id : 9983678222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'hoT oT5E T ATI-TdTee T BET?

Options:

1. = F+Feq

2. = FHA+FHT

* He[+hed

3.
4, v HH+heY

Question Number : 175 Question Id : 9983678223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TET SS[C, H DI AT UGIT 82

Options:

1. % 34T
2. = T
3. v T
4, = 4T

Question Number : 175 Question Id : 9983678223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'TEAT o6 H hiel AT YT &7

Options:

1. = 247




2. % T
3. ¢ T
4. % =T

Question Number : 176 Question Id : 9983678224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAHATCl T # § I &7 eThd Gd a1y 57
1. » arfiaT gt & o g ol A

2. v WD = GTET GTAT 3R Y 74T

3. » Grar g o # gl g, &g Tl gl

4. = ST AT TThT AT AT

Question Number : 176 Question Id : 9983678224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafal@a & @ FiT a1 T TIFT T &7

Options:

1. % 3TdT ATEaT & T T8 dAlehdl il
2. v AIF o TGTeT JRT 3T |7 =T
3. = Hlear o9 8T A & &, g araT &l

4, % S Il IMehY Tell ITAT

Question Number : 177 Question 1d : 9983678225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U G 3 chel gl LT ST ATDY Tchdl YehX o aTd DI IGIGL g7

Options:

Question Number : 177 Question Id : 9983678225 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

'Taet @ T 3ohel odal L& ATdT T Tohd TR & TId
3ETET0T &7

Options:

1. % FEAT
2. % Hgdred

o

3. = ToSyga=T
4., ¢ AT

Question Number : 178 Question Id : 9983678226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HUR § G § TG Dis @ Tgl1’ hdT a1 g?

Options:

1. = Ty aTpg

4, = LREEIECACIT T

Question Number : 178 Question Id : 9983678226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR # TAY q TR RIS T a1 HaT qeFg &7
Options:

1. » T8 g

2. = He_-ljcrd GIERS

3. v Glel Iy

4. = AR dlery

Question Number : 179 Question Id : 9983678227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

LI @ MU W ATRd Tohd - T o gid 57

Options:



1. =X
2.
3. % 9rd
4, = i

Question Number : 179 Question Id : 9983678227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl o YR 9T o hda TR & ald &7

Options:

1. = I
2. v did
3. = HId

4. = I

Question Number : 180 Question Id : 9983678228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'SY Ho[d ¥ TevdTdl TgI [WeATil” — arepd # Tehe Tente i 3rgig 8

Options:

1. » Thar-Tersrwor &t argrie
2. % AT P Yl

3. v T3 r 3Ty

4,  Tarerqur Fefeft argrieg

Question Number : 180 Question Id : 9983678228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH Ao | Tohame @@l el - arrr & fohg gerr o1 3Rl
g

Options:

1.&%—%?@%3@%
2.&14‘&31??%3@%




3.&?%??@'3{%;%
4. « RRANOT FRlr 3

General Hindi?2

Group Number : 10
Group Id: 998367356
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group?: No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi2

Section Id : 998367362

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367518
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9983678229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I ET LTe[E, "SIgT T U FeTl Mgl 57

Options:



Question Number : 181 Question Id : 9983678229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Shiel TT o1sE '§EAT T YIITRT dal &7

Options:

1. = Tqedal
e
2. = &
3. v RN
Na
Question Number : 182 Question Id : 9983678230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G S DT UL LT UGS, PAT 2?

Options:

1. * &gq
2. % 31Tg
3. = Hhe
4, v A

Question Number : 182 Question Id : 9983678230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T ersg T YATIGIRT e AT &7

Options:

1. % hEdr
2. = 3f&
3. = H%e
4. v IEH

Question Number : 183 Question 1d : 9983678231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T SIS, DT TATgaTa! TE[C DT g?

Options:

1. v IeTER




Question Number : 183 Question Id : 9983678231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl erse T TATIARIT e F4T 87

Options:

1.@@?@1’
2. % Yaded
3. = STSION
4. = T

Question Number : 184 Question Id : 9983678232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DI G UGS, "Il T T IFerdl Tgl 872

Options:

1. = 7Y

2. % TEIC,
3. v I

4. = 9

Question Number : 184 Question Id : 9983678232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Shiel TT o1sE 'STcel’ T YIIARIT gl &7

Options:

1. = A9

2. % Slelq
3. v g
4 « AT




Question Number : 185 Question Id : 9983678233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. = 341
2. v gk
3. T
4, = AT

Question Number : 185 Question Id : 9983678233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'YSTaT ST qATIATET Al
Options:

1. = 33T

2. v FER

3. ® Taoldl

4. = HRIT

Question Number : 186 Question Id : 9983678234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR T P 9 T 2
Options:

1. * BBR

2. % qTyroy

3. % 2Rg
4. v R

Question Number : 186 Question Id : 9983678234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'IZR T TAelH eIsg T &7

Options:

1. % ST



2. % TIYToT
3. » TR
4.&*3-@?31'

Question Number : 187 Question Id : 9983678235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T eIl S AT 572
Options:

1. v STH
2. % Tdel
3. = 3MTEAX
4. % Taq

Question Number : 187 Question Id : 9983678235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'TATIL T TTlH o6 T &7

Options:

1. v STOTH
2. % Tl
3. » 3TE
4, = Ade

Question Number : 188 Question 1d : 9983678236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

<hIT T W TelelW SIS[C, T ISTELUT gl g7

Options:

1. = SHWUT-TIgoT

2. ® GA-ITGH
3. v TOSr-TeA9r

4.+ UH-3TG

Question Number : 188 Question Id : 9983678236 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

hlel AT JIA TIoNA e FT 3ETELT oT6T &7

Options:

1. % eNYOT-9IYOT
2. = H&TH-3&TH
3. v JTorer-faater
4. = aﬁ-m

Question Number : 189 Question Id : 9983678237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'IAdH DI TeellH HdT gIT?

Options:

1. = if@u@

2. % I8
3. % T
4, v ITH

Question Number : 189 Question Id : 9983678237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'ScdA' T [SeHE 4T gEm?

Options:

1. = Talpse

c

2. % d
ot

3. % U o
4., v HTH

Question Number : 190 Question Id : 9983678238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS T TelTH STe[S, BT ZITT?

Options:

1. » gaL



2. v qgA

3. * pyITd
4, » SIY-YIdYS

Question Number : 190 Question Id : 9983678238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘LT T TIellH eTec AT IOM?

Options:

1.%?@'-5[3]'
2. v 39Jer
S.WEWI'IT-F
4. = TsI-ufass

Sub-Section Number: 2
Sub-Section I1d: 998367519
Question Shuffling Allowed : Yes

Question Id : 9983678239 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

(Question Label : Comprehension



STl T MY MEITer @l Ugeht U8 T8 T[T & Iqae iy

GHY T &g T g Tend & ER U 3ITdT gl o olliT A1 H, 3MTelqd H# U
T 3Gk T i TERTEE Bl g1 G UTd 3R P aceTa [ IT S1d 8
| B oI gid g ST g g @ieThd THY DI FENTd DL g, IH TgaTTeh
SHPT gl YeThRd gl AT U g GYTILTTeId! hl STleil # G @ Gl
STeTh 31T &G SITAT 3, Tehg ST 3T 3¢ U gl UTd 3R hiac

oI GIT Tgd g a1 39 Uid ST oddhd hid g, AT DI TT-Ah
38 PAeThT 3T &G SITAT gl Terermdt Siterd @ Tl af g geirdd
AUl gl SHDT gL Uel GIX-AIT AT hIACT GIdT gl gl DR g hi THY
T GESUINT i elTel FUheldT o JTHATT H YA i g 3R FAY Bl T
SRS, P ATel GG, TGl YIh I A qLg Aol 31 SITd 3l

Sub questions

Question Number : 191 Question Id : 9983678240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qeTdT & STTATT § DI YA BT g2

Options:

1. # ST U DI P U1 gl Pl
2. % ST QU T AT 3 Mpet AT 2
3. % ST gAY DI S7YAT TAATH ST ol 3|
4. v S GHY BT Feid] ST B gl

Question Number : 192 Question Id : 9983678241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SiTeT § FeTdT Pl §g DI Td a2

Options:

1. v ST G0Y DI qTY DA g, IYDT AT gl P gl
2. » ST WA <l FeITuiL AT 3|

3. = T AT Pt I Fgd B 8l

4. = ST YW P DI TG T G 8l

Question Number : 193 Question Id : 9983678242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




HZ T T TeheTehl STl H SRS th Gl STelehd 3T Tehel SITAT g7

Options:

1. » ST 3MMelg i Y Ed gl

2. % ST GILHTT 3T GG GHY Dl Hg Tg! ol

3. v S GHY @ I i 3T & GR Glefh? IHDT FaTTd hid gl
4, = ST 3T & PTY Y Dol UL TNl & gl

Question Number : 194 Question Id : 9983678243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HHY T Y Tk Tehelg Pralelehd 3T Mehol STTAT 82

Options:

1. » ST dhefol N 3T MITd T 94T ed B

2. v ST GHY D AR GADL HT IEIN & gd g, 97 {d 3l

3. * S QU &l JUIIGT ¥ SITET UHT YH-GTHHT bl AZq o 3l
4, = St G g7 & DRI U DF 3FET P gl

Question Number : 195 Question Id : 9983678244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS T 3UGeh <ATeh .

Options:

1. = GhoTdT ol HEIaT
2. v A &Y Md

Question Id : 9983678239 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



sl T8 a0 areATeT T Gesh I T qeEl & el Ifeiv

HAG T feg 1o g7 FRT & 2 WY 37T &1 F& oldT ol
H, 3oy # U3 EH 39 T HT TENTES HT g ol a7
AR FaC g Ya: AT ST & FS oflaT g1 & i el Zar
Tty AT T TAETT ™A ©, 38 TgdTadhd 3T Hal
PR &1 AT 0F &7 SiHEIenfer T el & gl &
el BTeThl 3T 56 ST &, TR ST 37T 38 ug=imel sigl drel
M Fae Tcolnd AT @A & AT 39 Uid 3eTdTeIdr eded
A €, TAG FT IY-Th 3eg Faelehd 3@ §¢ Srar &1 faezrdt
Sigel & Tolv ar TAT Gaifdsh Agcaqol &1 381 g Tol ER-
AT AT RIACT BT &1 T8I FRUT & T THAT FT TGN Flal
gTel Aheldl & MHHATT & HAUT Fd & 3T AT &I =397
SYETE el dTel BlelaN, Yi&HTe Jash o7 T g bl 8
ST &

Sub questions

Question Number : 191 Question Id : 9983678240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFHeldT o ITTATT H hiead FHUT FIaT &7

Options:

1. % S GHET hr F3T ag dJ87 Fd|
2. = S @A © T 319 Tolehel ST &1
3. « S AT T YT TJAH Toll o &
4. v S AT T Gl TGAIET Fd &

Question Number : 192 Question Id : 9983678241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




SieeT 7 3T T HE Hiel & 87

Options:

1. v S TAT T =TT T g, 3THRT GFEATA Aol hld &
2. % S 9T I HAMN HAldd gl

3. « SIf e’} T ae SR T g

4, = S A FLa HT TSV Tolid B &1

Question Number : 193 Question Id : 9983678242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THYT T T Tehetenl Siell H GIGTe & Pool STohY 341 ToTehel
ST 87

Options:

1. = ST 3TeET Lk A7 I&d &l

2. % S gi&ATe 3N gegR TAY FT Ascd gl adl|

3. v SIf GHT & T I 3ATeT § @R Tlelshd 3HT TG
T B

4. % ST 3T F FIA I el I 7T 20 &

Question Number : 194 Question Id : 9983678243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T T Tsh Tohog GRECER A& Tdhel ATET 87

Options:

1. % ST shdel AT 3T Afd o #O4ET T &l

2. v St AT HT gETh Foroht T AW §o B §, AV B
.y

3. % S AT T 3UMEAT T SATET YT SHA-TTIAT I AGcT
o B




4. » S BTN Bl o FRUT THAT I HASET Fld &

Question Number : 195 Question Id : 9983678244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ST T 3UYFA TR glam:

Options:

1. = Tholdl hT HEIET
2. v HHT T AT

S.Qawaﬂzrgsﬁnr

4. % T STET <76 c@ﬁ J:":“'ﬁ

Sub-Section Number: 3
Sub-Section Id: 998367520
Question Shuffling Allowed : Yes

Question Id : 9983678245 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

STl T&d WU e l UGehd U8 T T[T  Sqa iy

TSI = R & € # AT i 3T T i g1 ST JTergehrl
= 3TTST 3TEWel ol HI TWT T 1T g1 dSIITTd & IS elel argATT o fereer
I Ueh TITE H GHT Y BICT SIS ST 1CAT gl AT TeI=T ch hIRUT gl
3ITERTY | TS hl g S TTd & Teleul I GehdT g, GG Dl BIAT Bl AR
P 3Y ATE Gl 3, 3TERY T YT BT 3MTelTeh AT GehdT gl DY, Uehe,
SIS, Tellel, ST, ATelTSel 3MT U g1 7 ST Tdha e STL[ErISTD 3Mgd
U qUT FAT & AU o Gelo T g AU D eldT gl
FeITehe(@T & &9 # | faT el &g g g1 19, @iw, Iraramd, S,
ARSI 3MMiE, GHYA &A1 H A=+ 37U eT1gT #-7elTdT gl SIS & 4T gl
o Tg g1 "YUl TasTer @t Tqde | Ta< gt & 4T 3l




Sub questions

Question Number : 196 Question Id : 9983678246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

EEIEEEICHALRE I Y

Options:

1. » giTeh I Ypid W a1 UTY L et gl

2. % @ity I AT Pl SYET § FUL ¥ DY 1T gl

3. v @dlidh AT AMTAYD = SEWeT hl €I GWeT o+T [T gl
4. » ity [T 7 TYAT h FHT TdW TRT IET g

Question Number : 197 Question Id : 9983678247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TT-Y TSN 3R AT @b MAYDR § AJGT 7 BT B 1T 82

Options:

1. v AgYF 7 e 30T G U0 A 7T 3l
2. * AT Al AUAT LTk T el T TeldT gl
3. * TO=ITT Dl HB HT BT e eATAT SITATH 4T 14T 3

4. » qg W eI giidel B ol gl

Question Number : 198 Question Id : 9983678248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TTETTST T ol T AT g2

Options:

1. = T & G 9 3eNTd Bl
2. % TA<ITT i IUATeddl UL 31 HedAT

3. v TO=TT & SRSt 31T MWL ST el I el SR BT
4. = TeISIT¥ @I Y WK i argdide <ih b HET

Question Number : 199 Question Id : 9983678249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T § AU 3R AqIT Dl HaT Gl 572
Options:

1. v WIHEdT & =TS U[-3ET & AT T GaT
2. % AU & SIS gl ST &7 @adl




3. * HIFedT & ATdehdT 37X YT & 3id BT Gl
4. » AUZ hl AT, T 3N STRHATT ST & T Gl

Question Number : 200 Question Id : 9983678250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTEITSr T Féih el Sugepd <Tieh T gIeT ATTgU?

Options:

1. » TSI & THIDI

2. % TSI & JUPR

3. % TS Uh Aot IUeTiedr
4, v O ; G 4T, MUY |i

Question Id : 9983678245 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



sl T8 a0 areATeT T Gesh I T qeEl & el Ifeiv

AT o TG & T H ATAISIT shl YL TGT hTI &
FATTeTeRh MTAShRT o 3T 3TT *r fF Trg §ar f&ar g
dstarfer & 3ge arel argATEl o faed I vk aRfT 7 dAC
BIET FhTg T 0AT &1 AT aATA F FROT 8T 3HRIT A %3
T TE g T T TTTROT FT Tl &, THE HT ST T IR
FT 38 T ThdT &, AT F WHIeT FT 3ok §ET ThdT &
YT, Tehe, GLEele, T, gAY, ASa 3T oF &7 o
STTet fohcfel 3MeTdolech g IWON TUT I3 & AT o HIF
YT TTHST TG T olRr &1 Rfecar & 87 # o oaa
e g =&l g1 e, Y, I, IS, Aaeld 3
TALTT &9 # /AT & 39T ST HJAardT & 318 & =T &l
ATSTadT I sToc-fehelse Tl dTel V-3 3T Al Sl &
fore 3T Ghe a1 @ &1 Tt fGemer 1 gEae o oA & 2
TET &

Sub questions

Question Number : 196 Question Id : 9983678246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ﬁwamﬁmﬁag&w%?

Options:

1. » I 38 Ypid W [Ge/ g 9o T off g
2.« FAITH U HesT T 39 & I g T o= g

3. v Fh TATTaRh ASHRT o 3GHT T AT THT Far 32T &
|




4. % FIR BT & 3meer & gy &9 T g &

Question Number : 197 Question Id : 9983678247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AT-AT 3YHION T T F AR F HTsT o FA7 FT e
&7

Options:

1. v #ovd o T 3Tl HHST TAMUT HT =r &

2. = ZfaAT T U= ATF T A T Tor T &

3. » faaTe 1 $ ot FT Fohal ATl HFHA &1 7T &
4. » FF W G giider T =l g

Question Number : 198 Question Id : 9983678248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ICAT T HT Hoel T §7

Options:

1. = [T o Tall & 3TId el
2. % Taarer T 3ucisudl 9T 37 el

3. v [0ATT & TR 3T THCT FdTe aTel FAT hl 3SPR
hdal

4. » TO3ATT I AT AT hT aEdAH Aod g hidl

Question Number : 199 Question Id : 9983678249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fararel & AsT T ASTSIAT R AT TA E?

Options:

1. v AT & [aererh 3U-31631 & AT T Fel
2. » AT K SUSEMN & Slel T T
3. = ATITdT § aifdehdr A 3EAT & 3T FT Tl




4. = AT K garer, farer 3T ’FAVT 7 ot FT A

Question Number : 200 Question Id : 9983678250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

IEITN KT el VT 3UYFd M A7 glar =mige?

Options:

1. = 3T & TACHN

2. % T3 & 3IYhR

3. = [aaTeT Tk Taerefor 3uertsy
4. v TOATT ; GG AT, HTemT of




